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Cuna> Ruby

G2hS 9 Perl (i)55 (sloSiug Ruby sl hSedib g Ligy 3gd) Gl «og pipdloeil Lugidoliy ¢bj o ((29)) Ruby

<A ELSl el ) 9igeguile 9y10a59) wgi 1390 ads (Sl gloJw )3 (139) L) .31 395 )3 wo b |y Smarttalk
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Ruby (g;lasl ol 9 uas

395 Ruby wiilo o3bw yin ySialng < i1 2 - )l> 2Lzl )il 93 @ b ol @S 2! paizad 9 RUDY (L) @ ungiss gl

1345 391> ) S 51 aslgiise |y HllelS gl AblLe RUDY (b pmie (65523 g jodizg
http://dl.w3-farsi.com/Software/Ruby/rubyinstaller-devkit-2.7.1-1-x64.exe

Cuai RUbY judo «unl 634 0315 (iulad yj 53 o Jolye a5 Yes b Next daS> iz (435 9 o3 159y p <SS jbgd b VL Ja16 d9b15 jI 3y

139450

ﬂf_:’jl Setup - Ruby 2.7.1-1-x64 with MSYS2 = X

o

Ruby 2.7.1-1-x64 with MSYS2 License Agreement

Please read the following License Agreement and accept the terms before continuing
the installation.

Copyright (c) 2007-2019 RubyInstaller Team. A
All rights reserved.

Except:

Ruby is copyrighted free software by Yukihiro Matsumoto.
http: w.ruby-ang.org/en/L ICENSE. txt

3rd party libraries (OpenSSL, ZLib, MSYS2, etc.)

This software is distributed under the terms of the Modified BSD License. ¥

(®)1 accept the License
(D1 dedline the License

i3 Setup - Ruby 2.7.1-1-x64 with MSYS2 - X
<o

Setup will install Ruby 2.7.1-1-x64 with MSYS2 into the following folder. Click
Install to continue or dlick Browse to use a different one.

Installation Destination and Optional Tasks

Please avoid any folder name that contains spaces (e.g. Program Files).

| Browse...

Add Ruby executables to your PATH
Assodiate .rb and .rbw files with this Ruby installation
Use UTF-8 as default external encoding.

TIP: Mouse over the above options for more detailed information.

Required free disk space: ~75.8 MB

< Back Install Cancel
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?@ Setup - Ruby 2.7.1-1-x64 with MSYS2 &= X
Select Components
Which components should be installed? w

Select the components you want to install; dear the components you do not want to
install. Click Next when you are ready to continue.

Ruby-2.7.1base files 74.7 MB
[ MsYS2 development toolchain 2020-04-02 893.2MB

Ruby will be installed into C:\Ruby27-x64 and MSYS2 will be installed into
C:\Ruby27-x64\msys64. Please run “ridk install” on the last installer page to initialize
it. It can be updated later per “ridk install” as well.

Current selection requires at least 969.0 MB of disk space.

| <Back || Next> | | cancel |

15 Setup - Ruby 2.7.1-1-x64 with MSYS2 = X

Installing
Please wait while Setup installs Ruby 2.7.1-1-x64 with MSYS2 on your computer.

Extracting files...
C:\Ruby27-x64\msys64\usr\share \man\man3\10.Uncompress.Unzip. 3perl.gz

§5) Setup - Ruby 2.7.1-1-x64 with MSYS2 -

Completing the Ruby 2.7.1-1-x64
with MSYS2 Setup Wizard

Setup has finished installing Ruby 2.7. 1-1-x64 with MSYS2 on
your computer. The application may be launched by selecting
the installed shortcuts.

Click Finish to exit Setup.

[ Run 'ridk install' to setup MSYS2 and development toolchain.
MSYS2 is required to install gems with C extensions.

Web Site: http://rubyinstaller.org
Support group: http://groups.google.com/group/rubyinstaller
Wiki: https:/fwiki.github.com/larskanis/rubyinstaller2
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Ruby b 63w doly O sl

0L )i 9 )lidke polg(0 )3 2 )3 3830 il ) plawy S 4obp . manghy RUDY (L) 4 03w jluwy 40lip S 33 o)l

1A4S 49l ago Gl S5 (ol @ by sleul 1 a8 025 Zusgi |y Ruby eslw doliy O
-l ol Bgy> (539) S5 9 S)in ) RUDY (92 .S 4295 «S295 9 S)in B9)> @) (ST (g daliy g 4oy ol (yidgs 5>

©lp 2uS saolie (BB 1) o309 J& o ald Mgy a5 ol ¢l 345 Jlael a5 @uiS (50 4po93 (uyd ol Egyid jI i a5 (SSlaakais 51 o

13w |y Folder and search options 4iy;S Organize (ggie jl yj g0 @ g 4iy, My Computer a )5 ¢l

= |3
@U"E » Computer » v I ‘,] Search Compute P [
Organize v Properties System properties  » £~ 0O @ l
o ) ] o2
. ard Disk Drives (4) =il
2z Copy | T
— Local Disk (C:)
Paste - B g |
Undo V 4.30 GB free of 97.6 GB
Redo Local Disk (D:) =
Select all [0 149 GB free of 292 GB
[] Layout » Local Disk (E:)

Delete Local Disk (F:)

Folder and search options \ ;V 317 GB free of 292 GB |

Rename L -
B0 344 MB free of 247 GB
Remove properties

Propeities levices with Removable Storage (3) il

Close -
. ~4.30 GB

13y)l5p |y Hide Extension for khnown file types aiyiS jUS i g ais) View Spyw @) pj &)ygo 4 034 jb o)z 1
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==

Folder Options

General | View | Search

Folder S
You can apply the view (such as Details or Icons) that
you are using for this folder to all folders of this type

‘A Reset Folders [

Advanced settings:
Files and Folders -
Always show icons, never thumbnails
Always show menus
Display file icon on thumbnails =
Display file size information in folder tips (]
Display the full path in the title bar (Classic theme only)
Hidden files and folders
@ Dont show hidden files, folders, or drives
Show hidden files, folders, and drives
V| Hide empty drives in the Computer folder
 Hide extensions for knowr |
V| Hide protected operating system files (Recommended) ol

S

[j?estore Defaults ‘

g:a OK H Cancel [ Apply

ywio 43 Ruby (slodaliy ol g JaleolS (gly Lass cais 4isS aS jglilad . @udd 50 paudgs |y RUDY )3 daliy (gl slxyl 69 |y Ladd dolsl s
310l92(50 9 3135 ) LS] )3 ugisS baoe L IDE oo Lads o5 iS50 009 V1 9 @23)5 el JiB 00y )3 ) o &5 )3 5L 0bj o

.39 wl> Welcome to Ruby Tutorials pley pudlgsiso doliy (g2l )> .dumgiy Ruby doliy G

Command Prompt Ly CMD jl a3lasiwl

tdaungi [ ruby -h jgiws cmd ol 1 ay L3S o ol ) emd g a8 joding Start (ggie @ lad (yig) (2l o

Microsoft Windows [Version 10.0.18363.959]
(c) 2019 Microsoft Corporation. All rights reserved.

C:\Users\Siavash>
Usage: ruby [switches] [--] [programfile] [arguments]
-0[octal] specify record separator (\@, if no argument)
-a autosplit mode with -n or -p (splits $_ into $F)
e check syntax only
-Cdirectory cd to directory before executing your script
-d set debugging flags (set $DEBUG to true)

-e 'command'
-Eex[:in]
-Fpattern
-i[extension]
-Idirectory
-1

-n

-P

-rlibrary

-s

)

-W[level=2]|:category]

-x[directory]

one line of script. Several -e's allowed. Omit [programfile]
specify the default external and internal character encodings
split() pattern for autosplit (-a)

edit ARGV files in place (make backup if extension supplied)
specify $LOAD_PATH directory (may be used more than once)
enable line ending processing

assume 'while gets(); . end' loop around your script

assume loop like -n but print line also like sed

require the library before executing your script

enable some switch parsing for switches after script name
look for the script using PATH environment variable

print the version number, then turn on verbose mode

turn warnings on for your script

set warning level; ©=silence, 1=medium, 2=verbose
strip off text before #!ruby line and perhaps cd to directory
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--jit enable JIT with default options (experimental)

--jit-[option] enable JIT with an option (experimental)
-h show this message, --help for more info

02 > Wio 3135 (1o Lo HLisl )3 1) @uiS esliwl Ruby jmio b Joled (glp W5T 51 @uilgd (oo a5 (S5hgiwd pled Cund ruby -h jgiaws
T3uwngi |y 5 (sloaS 9 03,8 Il 151,555 ,US) g i Iy cmd 394 (50 cmd > jgiwd Sy gzl Eacb -e YU lygiws

Microsoft Windows [Version 10.0.18363.959]
(c) 2019 Microsoft Corporation. All rights reserved.

C:\Users\Siavash>ruby -e 'puts "Welcome to Ruby tutorials!"’
Welcome to Ruby tutorials!

C:\Users\Siavash>

Interactive b lolas i jl 65wl

03 (0 1) Ruby b (oung33S 6jla| Lads 41 a5 394 (50 cuad ()l blyad @ (loles g (LunigidS bume Sy j93izg )d RUDY jumie Cuas pSio
Ol . 3uiS SulS Start (oo )3 pU (2l 59y p 2L (oo Interactive Ruby ol g 3)l5 )1)8 joaiyg Start (ggio jo loles kumo ¢l

13w ) Enter daSs g didgs ()1 53 |y pj Olygiws dyzl 51 a2y . 3bb ;o (Skive cmd Jiilad Jbixeo

irb(main):001:0> puts "Welcome to Ruby Tutorials"
Welcome to Ruby Tutorials

=> nil
(reverse-i-search)

cmd baao g ¢yio ySuinilyag 51 63wl

@3S 5635 ;L |y Notepad sile yie )Suinlg S 1l (S eslaiwl (T j1 @@ (g32 (sl (Hjgel )3 @S (50 dlgisiy 45 Ghg) (il )d
D35 053 rb Bgmn b 9 (345 Cale) | K25 9 Sy Bgy>) aidigs o J21s 3 1) )

puts "Welcome to Ruby Tutorials!"

""" Untitled - Notepad | =HEC Jh]
Edit Format View Help
B New Ctrl+N

Open... Ctrl+0

Save Ctrl+5

Save As... 9 to Ruby Tutorials!")
Page Setup...

Print... Ctrl+P

Exit
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S

Q% Hemegroup

1M Computer
£, Local Disk (C) |
Local Disk (D:)

i CD Drive (M:)

‘?j Network

j Save As
@QvLJ + Computer » Local Disk (D:) » - |4¢| | Search Local Disk (D:) 0 |
Organize MNew folder = - @
B videos m Name : Date modified Type =

- 4| 1

m

File name:  MyFirstProgram. b a

Save as type: | Text Documents (*.bd)

)

+ Hide Folders Encoding: [ANSI

@ ] [ canee ]

m@g

@CJVLJ v Computer » Local Disk (D:) »

- | 5 | | Search Loc.. 0 |

File Edit Wiew Tools Help

Organize » Include in library « Share with +

E Videos i MName

__ MyFirstProgram. rb.be
003‘ Homegroup

- Computer
& Local Disk(C)
a Local Disk (D:)
&3 CD Drive (M:)

m

?j Metwork

Burn

17 items

=

MNew folder

m

Gl |y T txt. Sguwy 2L lab a5 dgd(0 8)u>d MyFirstProgram. rb.txt Sguwy b ol 0> jl a2y (iS50 0ol a5 jghilan

23S SIS Yes dinjS (69) 2 b Ladd oS 39i50 0B ) )00 @) (ol Wgun 93)S Sb e . 3uS

I

Rename

Are you sure you want to change it?

L If you change a file name extension, the file might become unusable,

Yes

|| Mo

10053 05 @90 4 Qb (Rl JSb U
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=] B |

@uvh_u v Computer » Local Disk (D:) » vl*’ll Search Loc.. S

File Edit View Tools Help
Organize = Include in library - Share with = Burn New folder == o+ [ 0
B videos o MName \ =

| MyFirstProgram.rb
*d) Homegroup

m

/8 Computer
&, Local Disk (C3)
—a Local Disk (D:)
=a CD Drive (M:)

m

k.‘I_-l Metwork

17 items

<7

D Ao |y Enter aaSs g aiings o J515 53 1) 35 a5 963,550 1) emd 1413515 518 D g31)3 53 Lo (16 .uny 50 dobp ghol 4 cog Jl>

Microsoft Windows [Version 6.1.7601]
Copyright (c) 2009 Microsoft Corporation. All rights reserved.

C:\Users\siavash>d:

D:\>
Welcome to Ruby Tutorials!

D:\>

Jie) paangizo Iy ol Vg olhad 4 0595 b Luaw g ruby dalS lail Ruby (sl@3S (slyzl (5lp iS50 sadline YU A5 > &5 jghilao

.(MyFirstProgram.rb

0b) 2wl Ginled axdio ) pley SO Ginlo Yo JUo )d Bao . dauwgis Ruby ;5 3ilgiiso ladb a5 cawl (glasly ()3esls YL JU
9y50 )5 4 ol Jolioe (gl plaS (o a5 Cul gloads wayyel i 5l g3 (sh1d> Ruby .l Gwng3aS (gl (gaclgd (ghl> sungd aolip
A 35 I (glacgamo @ilgS 4 @iS(50 o3 QU gl 4 3> aad )3 (9 qRI0 FMoYS Yl &IPS )90 )> 030T )3 &5 Niz
oslaiwl didsy S il gl puts @ 1wl puts U @ilgl ol jl S .o (0 plesl ]y Gols )5 G (e (50 1o |y T awl (89 a5
. “IWelcome to Ruby Tutorials” :3ile .cuuwl 634 jgamo () (piaioS (1> dlung o a5 cuwl yiSHIS 51 (29,5 didy ) 39400
o] (w3 ) yidinw Wlowsgs .l puts gl 5l eslasiwl ogzs Yo Jlio JS )0 .abl ... b Ceole i wdy> Sy ilgie ySHE S

1355 500 JIib 5 A 51 Wike 3,550 02330 |y (I (slolad Ruby .l sa0l
puts "Welcome to Ruby Tutorials!"

Lo iy .35yl Gy @@ b Ruby ;3 man g MAN Jlie job @ iy .Cusl (wlws Bgy> (S295 g (5)3 © Ruby a5 3l disls Sb @ diges
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PUTs "Welcome to Ruby Tutorials!”
PuTs "Welcome to Ruby Tutorials!”
pUts "Welcome to Ruby Tutorials!”

Pl s 933 ol 55 35 Lol L3S0 (559l W3S (ghl jl B9y X295 9 53 > S
puts "Welcome to Ruby Tutorials!"

Wio .l 633y LU @ ks 5T a5 Cunl o djie 43 3w Enter jL <o bi )0 jl a2y &5 Guaw .39yl () JSaaw @ (gl Ruby ;5>

DAl 132 )giwd 93 5 b 93

puts "Welcome to Ruby Tutorials!"
puts "Welcome to Ruby Tutorials!"

1AUS A9 i A5 @ .3)F eslatiwl jekie (gl sl Puts U SO I kg (50 jgiwd iz il gl puts U szl esliiwl gl @

puts "Welcome to Ruby Tutorials!" , "Welcome to Ruby Tutorials!"™ , "Welcome to Ruby Tutorials!"

Welcome to Ruby Tutorials!

Welcome to Ruby Tutorials!
Welcome to Ruby Tutorials!

LolS caole wlygiws (pu candlS @il 63)5 il puts gl S jl eslasiwl b 1) Welcome to Ruby Tutorials! aid) )b dw Lo Vb a5 >
& a5 Gl ol puts b b @l ool wolds . cusl print ¢l pb a5 315 3929 529y 53 wlz (glp 5o U S, Ruby > 3w )18 ()
4293 5 A5 @ igy S)3 (5lp L A5 o wlo e Hw iy 9 A Y 3 ) ©lgiws deo print QU g wle s s G p3 ) Hgiwd yo puts

BRI

puts "Hello "
puts "World!"

Hello
World!

D gl o print &bl eslaiwl b 1) 35 aes Jlo 03k Ol @ jl las b 93 )3 Oljgiuwd 4 345 (50 ool

print "Hello "
print "World!"

Hello World!

L ygiwd 93 51 @uiled (50 yokiin (al (Sl -9 hal aslyy (SloBl > Ep 9 Al )3 35 5l GEp &5 Ealg> (5o g wlp yd BByl o1

DS oolatiwl iy wygo 4y END g BEGIN 35 Soly

puts "This is a statement”

END {
puts "End statement"
}
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BEGIN {
puts "BEGIN statement™
}

S0 ) 990 4 5295 9 hal pul 4 YU 5l ewy 4 S o5 LEb bl D] i oS sl oSes

This is a statement
END statement

BEGIN statement

1392 3@le 5 g 4 Vb IS 529> g

BEGIN statement
This is a statement

END statement

. 90 (50 Iyl END Sgby wljgiws eales )3 9 This is a statement juuw BEGIN Soby J&1s wljgiws lail iy
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2 g 4oy (sleibj yidin 9 Ruby )3 .3iS adLal ()T @) 35 T adabg (5)913h Cagz (it 45 Judlgin L WS (0 0l (535 45 (5389
A5l i (lgic @ g B9 (S0 4i8)S 63030 jumie bwgd 45 Auwd (Hgie Wloubgi 31y plool Wlowbdgs I esliiw! b 1) HIS ¢l olgs
Adlgs (10 45 AuS )8 sl 150 (gl lesd Jowgl 02 didsgs (LS LD ausuid 9 (Llg> (93 YU wWilowb gl sl I ol Bao
o3l @0 aoliy (gjlu Ao (ghy Glowdgs 51 daunghy T )US L 35 (Y )3 1) Glopdgd 31ilgT (50 a3 Budgs (pol> 35 S 30 )

DGl 03 031> (i Wiloud gl HId ) doliyy )d 394 (50

puts "Hello World!"
oz 285 YL 35 Ghal b § Cumaz pgd b daubg a5 AS (o Elel )5 G &5 Cwl pgd kS 0)lyd FuOGT S Vb AS Jgl kS VL AT )
245 (50 630Lis 45 johilad .3pS (50 63330 |y Glowubdgl ymbe (o2 39 (a3 0313 Givlad ;29,5 5> Jol k3 g 6 wlz Hello World

39 2> ole ol guogi jl ks 10 labl )d VL e HVgb Wludgs (gl .39 (50 e3ldkiwl # Caole jI Ruby )5 Wbyl )5 (glp

puts "Hello World!"

tCwl pj Wy @ Ghs s Olxwsgs sl gl )f,g) 09y 2

=begin

This is a multiline
Ruby comment example.
=end

puts "Hello World!"

<2l 0315 )18 Wlwogs jlasy |y end= g Ju8 |y begin= S (50 s3olive a5 )ghiles
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S slyiSyis

Ll iy o g Mie 338 b yo 5 T s @ g Nindin Egpds \ Gkl < b oS 3 55 SoySh (S sl
138 ealasiusl \n (JyiS S HIS 51 glgige o yd diddy 315 )8 g LAz ks S slsyl (gl Jlie (gl 320 Ginled pols Cuoyd
puts "Hello\nWorld!"

Hello

World

U932 <330 igled a2y b )3 |y aiidy iy g 63y 32 by ]y gugle LIS \N IS SIS b ag2lge 1 a2y puin a5 23,5 saoliie

P30 gl ) T 3,55 9 (S (sl hlS cand j

S LB 3ySdac S yshs 3Sdoe
\’ OieS ol \f Form Feed
\” oedeS ls ol \n 03> b
W Uil SO Gl \r 08 Yl yu
\o P slas oz \t Gl &0 4 Sy
\a e glao \v (53900 ©)90 @) Sy
\b e @ Sy \u g yiShS ol

\ Uil SO ol Glp W30 aid) 4 (ol> (glize \ aSulssT j1 @S (50 odlaiwl \ Gidw! SO 1 ((JyiiS gloysiSHS 1 eslasiwl (gl Lo

DS oolaiwl \\ 1 2L

puts "We can puts a \\ by using the \\\\ escape sequence."

We can puts a \ by using the \\ escape sequence.

Dcwl joding 50 il SO e (3 lis A\ jleslatiuwl 3)lg0 1 (S0

puts "C:\\Program Files\\Some Directory\\SomeFile.txt"

C:\Program Files\Some Directory\SomeFile.txt

D S0 oslasiwl \” 51 T Gl (gl auS (50 esliswl odid) (31> i (ghy « puideS (bl jI aSyledT i
puts "I said, \"Motivate yourself!\"."

I said, "Motivate yourself!".
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P eSpe o3kl \7 1€ piideS wle (gl prizen
puts "The programmer\'s heaven."

The programmer's heaven.

D390 o3laiwl \T jl wlalS b Bg)> (yu dold Skl (gl

puts "Left\tRight"

Left Right

20350 )8 \U Cole 51 oy caw)yd |) )iSHIS 17 (gliao ) Hlasoe U jl eslatiwl (gly .35 edlaiwl \U I hloie 3SWes (5,5 )S Ll (gl
1 3le @uds )8 1) A9oo Hlaie \U cuelle jl 3 LU (auiS Ol ) 0 culy (115 Cole pudlgy )1 Lo (gl

puts "\u@oA9"

T awlad dezlie 5 S O 369y (s ,iSHS (gl 17 (Glao pdlie Cumd s Lo (gl

http://www.ascii.cl/htmlcodes.htm

Pl Gl g daby & 3Bl (o G| Giloj Uad )yl 30350 as pleny doliy IS 395 jloxe yué G HSHE SO 4 yudo )]

L3S o 03kl \\ I\ ikl


http://www.ascii.cl/htmlcodes.htm

g 4obiy (hjgel Colw (g3 (aaii w3-farsi.com Yo

2 o
D o
33 1) 395 (gedls a5 35 jgual Wb SO vlgic W 1y ¢ ¢lgise .3uiS 0)uBd (4T )3 |y (6pdlEoe Iulgise Lo a5 Cuwl abdls 1 (Silo yusio
252351y e glgise ol Gub )l a5 cand o5 b S GhIS juiie @ 335 i b 39 Sb lgize Byb ol Slgise 3glesls )18 T
Aol b bl oddh OBl )5 buwgs Mlgise 45 Mbbse Hlade Sy GhId uizan .3)S Iy Guyiwd Gl Hlaie 4 g 3l Lol b yaeio
3950 0)a33 () )3 45 (5lodls €93 b T £ & (Hime AN Cuwwd jub €S (ShIS pasile 3B jub (545 lgiise pile Hlaie ABL dwle S

Cawl (5O

GHId jaie colgs )3 9.5 )8 eslaiwl 3y90 doliy Job )3 )iz b jusie 45 33 Gousuid ¢lgise ol (59) j &5 Camd 15 yac (ghl> jusio
GB90 HWl SO ylgic 4 b yusio jl o .l uwyiwd JB lad (glp 4ol (gl dz > jusie 45 139550 lads 4 45 Caud j o3liiwl 63930

IS g a5 (ploesly b pdlie w1 0,53 (gly (5o Sy @ pliis] @S0 dloul dely ) &5 Golio .@uiS (0 e3laiwl 6315 6)u53 (glp

cCwl puio Glad (e ¢l el (50 3)lg

And (5890 W yaio @3 i |y o jladoe bl o3V aS > o bylyb Egi @ diumy puilgls0 b (592 3950 o3laiwl yuio dalS jlI ol (slp
$S3WB 3450 S ju ysie ligise 30 |) dolip lab 89 g Cushl Jl> )3 doliy a5 35,550 )18 odlatwl 3)g0 (2850 bid g

235 Caley ) ) owled Wb W pkio ()60 (gl .3)5 I Guyied T @ lgise yuie e dlwg @ &5 2

-39 Egpid _ Caodle b (3-2) L)l Sz95 Bgy> 5l G2 L 2k st pb e
aab#, 2, A, %, . sile jloeyd (sloySLIS Jolis Blgipas e

. AiL (spaces) (J> glad hls LS yuoio b @

e 93 . AT He Gl @ ilizes yiSHIS 93 A g @ Jile Wym 93 Ruby )3 . 3iiwd (ks Bgys (5295 § (51 4 Cuwd bysie okl
Eopd M Sjis Bym b (6,503 9 M K205 Bym b il 51 So (992 Vgdse Womme Lalitee jusie 93 MyNumber g myNumber (slgob b
2695 Ruby 5> o 6315 Elgil 3590 )3 A2y (uyd 53 A3 (50 WS 1) WS (50 8153 395 )3 aS 1) (gledls Egi a5 Cund Eg5 (gh1> puio 3950

Tl 020l y35 53 3,5 ealiiuwl Loyusie (61350l 53 LT 51 13l 45 Ruby (gl wslalS Cumd a3 (50

BEGIN END alias and begin break case class def __ENCODING__
module next nil not or redo rescue retry return  _ LINE__
elsif end false ensure for if true undef unless _ FILE__

do else super  then until  when while defined? self yield
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o3> Elgil

151 a5 le 515 3929 Ruby )5 a5 (o 63l Elgil

e V=L Y] 831>
<l (50 pusuo (Shie g Cude dlacl Jold | integer (Numeric) (gd3c
LABL o (5)linel slacl Jolds float

i S Sl (gyuues BB e Eg5 blite 031> Egi L AdL (1o blizo slacl Joli

UTW&9L’L&_‘>WQMD Uluu UTW&SJAS&SMG)IAQKJ I) float complex

(7.13 + 3) 36lo .l balizs 3ic (105290 Chawmd 6310 (L
23940 (50 W] (Al ai8)3 H1)8 (1uisoS (1 b Sy Caole 93 (w45 LoyiS|IS (gl dcgamxe @ (String) (gl @i,
351 00 las o 5l () LS CoMe L 9 w)f)l)s [] code 95 () 45 Aiiwd |quT)| ! acgazo (List) alyT

uu\LcLg9‘tié)f)l)é{}cm\l.c950,,.;‘&99)1.\.6.‘19;,,.15&:»)9;04445.\.&.@Lm,a;i,ﬂ)'l(_glacw

(Hash) i

-3l 04 laz @o 51 () LS
< 33)15 5)),15 o Hash ;> g 3394 (0 Egya (:) ands 93 aole b g Ao o i) sl (Symbol) Jrow
. dwb (o false b true jlado 95 Joli boolean

CEADD (50 FWOG A=) (j)d ) juio ) Lo3T jl edlaiml 6925 g YU (gl 831 Elgil )90 5>
> 1250 ;1 65wl

e o 1286 45 CuwndlS RUby )3 (@13)S (50 pasuive a |y jusie Eg b jusie iyl pBio a5 )l w g lgls Jho (alo L BYS

Zfx,.\m)uobablo'idg)l.xﬁ.og;g(sgwwﬁc41,};»94;943.;2")95])

variableName = Value

DGl 03 031> Ginles yuio (s23)la80 g Lanyei 0920 pj JUe jd

1 intVar = 10

2 floatVvar = 12.5

3  boolvar = true

4 stringVar = 'Hello World!'

5 arrayVar = [1, 5, 8]

6 symbolVar = :abc

7 hashvar = {'Name' => 'jack', 'family' => 'Scalia', 'Age' => 7}
8

9 puts "intVar = #{intVar}"
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16 puts "floatVar = #{floatVar}"
11 puts "boolVar = #{boolvar}"
12 puts "StringVar = #{stringvar}"
13 puts "arrayVar = #{arrayVar}"
14  puts "symbolVar = #{symbolVar}"
15 puts "hashvar = #{hashvar}"

intvar 10
floatVvar 12.5
boolvar true

StringVar Hello World!

arrayVar [1, 5, 8]

symbolVar abc

hashvar = {"Name"=>"jack", "family"=>"Scalia", :Age=>7}

39 (50 0313 polaisl il 4 a5 (g)lade @ diws |) byt Eg5 RUDY Tumus Woyusio (] Eg Lol .351 63 Liyy=i o jusie -V bghs )y
bghs 4 .l 63 0313 Lobais! (T @ (gl did) jlade SO (92 wunl didsy Egb jI F s )3 stringVar usie Egi Wio .35 (50 b3 )
Cusl array Egi jl Cunl 03 831> Holaisl (T & a5 (gl 831> £55 g Cuwl badd Liyyel usie SH O b 5> L a6S dazgi YL AS Y g £ B

D Mg (50 1az @ I LIS dlusg 4 (T J51 (sl @i g 39 (50 415 @ [] Cele array wagyes (glp i o)Ll Ju8 () )3 a5 jghilen

arrayVar = [1, 5, 8]

string & ¢ 3w yu2io & o symbol .cuwl i 6315 Holaisl (T & symbol £g5 5l jlate ) g Cuwl 634 Layyel juio ) @ £ b >
9 223 32ls> 1 Gid )3 1) T 3,5 03T Sl )3 . 3iind 3555 o (i )3 9 35,05 (50 15 )3 1 Gz lgic @ ) LT &b o
9 => Caole Hlado g 3S (hu hash wyei (gl .l 60 Ly hash €95 G Y k3 )5 Lol 9. 3594 (50 8315 (Lt (1) alads 95 Caole b

258 5o )8, Cuode @i Loylade/ aulS (w0

hashvar = {Keyl => Valuel, Key2 => Value2, Key3 => Value3}

Ko g 25 SO g (g @l 0313 LB, LolS Cuedle LT (a5 315 Hlade/aulS b @il dw a5 @l 03,5 Layy=i hash S YL Jlio js Wie
Sy &S Cunl (¢l 394 )Ll (T @ loxinad 55 a5 Cusl yigr g 313 3929 YU A5 10 bglas 53 aS (gl €SS .l 4i)S H1)8 @ Cuole (4T 4y bgyyo

nu

gy #{) gm 53 1) jusie pb b S Ol 1) e Hlade 3lgsu )51 g Jumgin " Cole J513 53 1) T pb CawdlS usie S pb (g

YL AS 4 ks ) Mo
puts "intvVar =  #{intVvar}"

G (50 yaie Hlado (simy o dac o Cach (Golmo Cuole Cuwly Cuow g INtVar sy jufio pU ple Cacl (ggluwe uole iz Craw

23S Jac pj Wy 4 lgi (50 puie Nz 4 Hlade SO yolaisl glp

identifierl = identifier2 = ... indentifierN = Value

DS 429l pj Jle

numl = num2 = num3 = num4 = num5 = 10
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messagel = message2 = message3 = "Hello World!"

puts numl
puts numé
puts messagel
puts message3

10
10

Hello World!
Hello World!

G yaio g 034 6yu>d alddls )5 Vo Hlade (i) 39 (50 031D Lomass dbils Gl SO YU Tl ) 014 LiyyeT (5o (gl 4S5 AuS Cds
o 51 SOy (gl 9 3)S ayyeli |y jusio Mz (lgh (o uizad .3LS (50 o)Ll abidls 1 L (T 4 nUM5 g numd g num3 g num2 ¢ numl
13903 yasuie (5l BB 1Az Hlaie

identifierl, identifier2, ... indentifierN = Valuel, Value2, ... ValueN
1S dzgl pj JUo

numl, num2, messagel = 10, 12.5, 'Hello World!'

puts numl
puts num2
puts messagel

10
12.5

Hello World!

P g9 el Lb Eo b e Ruby )5 . aibL ;o 'Hello World ply messagel g 12.5 plyp num2 10 ply numl jlade YL 35 )
D09 (50 4zlge e b3S bl ) dely g 3035 polaisl |y (g)laie o 43 g 03,5 Ciyyei |y (gpusie ST (Limy . Wgd (031260

number

puts number

undefined local variable or method “number' for main:Object (NameError)

o2l 1 pIaS o L3515 518 1 L " Cole JB15 )5 oS Gl iSHIS I degamo SO ol 3 didy SO qa3,S o)Ll @ JuB 4wy 3 a5 jgkailad
dzg5 yj diddy A3 .39 (0 Egpdd o 3l iy )5 oyiSHS Lol . Alind uwyiwd BB Gl T dlwg 4 65 Gl Gua 331 S5 ghd byss|hls

RV
= 'Hello World!'

DAUS Azl i S ) g S)d gl ] Bl 0,55 hS G 1YL didy o
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Hello World !

01234567809 1011

DS Jac pj )00 4 a5 CawdlS dii) ol 51 IW VL 1SS SO ol gl Jle

= 'Hello World!'

puts [6]

GFSHE T Gl b diig)S 515 5 g dig)S cubs SO o (5ol )3 iy |y jusio o a5 CawsdlS 1S (50 630 Lio YU 35 > a5 jghilad
DS (50 G0 a array 390 55 Gua bl jleslaiwl b Hlade olz gy |) 39 il adles (0 a5 )

= [1) 5, 8]

puts [2]

1304 8313 Ginlad Lads (gl o jlade B gy ) 3ulS ol 3,5L La hash 3590 55 Lol g

hashvar = {'Name' => 'jack', 'Family' => 'Scalia', 'Age' => 7}
puts hashVar['Family"']

Scalia

bgipe jlade Ol (gl Lad g 3l (£95 0 1 3ilgT (50 hash ) Woylade/slS a5 Cusl )l puS o)Ll ¢ 4 lxiwa j> Cunl yigy a5 (gl 4SS
P a2gi pj JUe 4 damngiy @85 1) 3lS U Wb S o @
hashvar = {1 => 'Jack', '2' => 'Scalia', 3 => 7}
puts hashVar['2']

Scalia

1294 (b 030>
hashvar = {1 => 'Jack', '2' => 'Scalia', 3 => 7}

puts hashVar[2]
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b culs

335552 2 031> Yolais! algl jlaie ol 4 a5 ¢l jl 32 A5 5ed jusi dolip Job )3 ST Hlabe a5 iwe b jusio jl elgl docols

8950 .l g3 50 Sy B> b 31318 @b |y ol pb a5 Cunl ¢l )3 bojusie b b coll eglas .ol jues 1y o ¢lgige debyp gzl ¢le;

Dl 030l pj 50 colS Layyei
IDENTIFIER = initial_value
D Jbe

NUMBER

L}
=

NUMBER 10

Gl HLSO B ol Gundo 335 51 (o2 S0 dzlgo U b ) 4oy sad (@ )I.um\hs a5 ol S @ ol Hlade a5 duipso Jlo ol )d
Sopusio )53 )laie b 1) ol )laie 33U5 a5 Cunl ol 39ib 9ol 3L5 6 (6,503 (G55 315 yuusi 1) 3T (195 (505 9 3 64 iy aiiny
2 Jbo 158 by doby 5> oddd Layye

MY_CONST = 1
someVariable = 10

MY_CONST = someVariable

35y 45 35,13 3529 daliy ) (5dlie 45 iwd (iaho )51 Teumz ol edlaiwl Jud 45 oL e3el iy ¢lily Jlaw ol Cusl (Sae

239050 YU |y L doliy caatsS SzgS iz j0 )5 ¢l L3S Layyel Coll Whguo @ ) LT a5 Cuwl yigy AiiS a0 sl doly Job o
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o3> Elgil Jraus

&3 ;1 (5l acgamo (gh> Ruby 394 (0 aisS Type Casting ol kol a5 31> 3929 ;503 E95 0 E95 o Joasd (5ol Ruby (45 >
Pl 03 o)Ll @155 l 1 5B @ ) J932 )> S a5 )05 E99 4 E98 S 1 il 3gH (50 6 Wl oad Ly iy |

Value.to_i

A5 (50 J23S pusuo b it Eg5 w |y Value Value.to_int
Integer(Value)
Value.to f

LIS o i gyliel | Float g5 4 ), Value R
Float(Value)
<3S (50 J23 Complex Eg5 @ |y Value Value.to_c
LS (50 2 decimal £g5 @ |y Value Value.to_d
S (5o R LgS €93 @y |y Value Value.to_r
SIS (5o S diwy Eg @ |y Value Value.to_s

S pj dobip 5> 3L dibl> 3929 H5 )90 (glodls Eg5 4 Jraus el 45 A (Hiake 1L Lol AiL Llgise (gledly Eg5 yo Value lado

Dl 03 0315 Hinlad YL (sl die eslaiwl b ysio (i jl diges

X = 9.99
convertedValue = x.to_int

puts "Original value is: #{x}"
puts "Converted value is: #{convertedValue}"

Original value is: 9.99

Converted value is: 9

Crawd 45 394 (50 Cacl HI5 ol .l 83)5 sl zusuo €95 @ |y o to_int aie jl eslasiwl b Lo g wuwl float g5 jl X yugio Yy A5 >
19l ()13 (50 @ ) (S W)gio A 1) YL IS pgd kS 39k Wis juio ¢l Hliel

convertedValue

x.to_i

convertedValue = Integer(x)

Gy g ) dio pU Coles ) g dlads Caole Guaw gaio pb 2L 13Dl (Eo5 Jaawd (glosio jl oslaiwl (gly a5 3iS (50 s2olive YL AT )

TS dzgi 5 Jlie 4 .3,S edlasiwl class o jl (lgd (50 @ juio Sy £ (93)gT Cawd @
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X = 9.99

puts x.class

Iy piio pb a5 CawsdlS sz Cunl 6345 6315 )18 juoie (1l )3 45 (gl 6313 Eg5 a5 pulgiu S| Jlo @l 63,5 iyl usio Sy Jol k5 )

1390 WlgS 5 Wyguo @ dzsus Vb AT ghol 5l Leawngis |) class die aw) g akidl Caole Gugw dikigd

Float

<dil (50 Float Eg 5l bo juio (sizy .cawl Float dalS G(inled dsuyih 3uiS (50 630U a5 kil
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Lo, Skoc g wihylic

T g LT dalS 93 b lal
LA (0 plesl ol Jlacl &5 s (oslas :)il.ac .

430 plool Glac ST (59) o oySlac a5 (gpdlio :3iglac @

..\.iﬂuoghupd.))f.lm+uo\ln9.\j9ln£Y9XUT).\dSCMIQ)L+c@ $X+Y Wio

W Xlac dlas ;| alize (glo,Slac (gl)ls Ruby 3150 lus @ (b Jgamo szl jl a5 situd (b Slac (gh1d> L3> g 4oby (sle3l;
23 Slac E95 aw 3,5 o)Ll Gyi5 9 gz Slac @) plgise (6L 03l (glo)Sles jl . 3bLe in 9 Gikie (Glawlio (papaii (6L
1 315 5929 Ruby

3513}l Vglac Sy & (Unary) - i5s o

3153 5L Mglac g3 4y (Binary) - (939> @

515 5L Mglac dw 4 (Ternary) - (pUdaw o

251 A le 3350550 )18 Camy 3)90 Uik ol > &5 SShee walize Elgil
ok g@)Slac o
ramass goySlac @
Slawlio Glo)Slac o
Gibio glo)Slac
Gl goSlec o

039am0 (5l Slac o
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DAL 0 Uis |y Ruby (1ol (soySlac pj Jodo . AiS e e3liiwl Ol plsol (gl (560) (slo)Slac ;| Ruby

s Jue  diws  Shac

var3 g var2 gaz Juwol> b cwl plpyVarl | varl = var2 + var3 | Binary +

var3 g var2 @5 Juol> b cwl plpVarl | yarl = var2 - var3 = Binary -

var3 pvar2 opalol> b cwl plpVarl | varl = var2 * var3 | Binary *

var3 pvar2 s’ Jol> b cwl plpVarl | yarl = var2 / var3 | Binary /

var3 g var2 eundi 635leudb b cuwl plp Varl | varl = var2 % var3 | Binary %

var3 ylgs 4 var2 )lade b cuwl ply Varl varl = varz Unary *k
var3

Loaiiy gl + Slac 1,51 .55 (Sglisie o (glaidsy Eg5 (5l (500 o) Klac j1 03laimw] Lol .l 634 o3l (g33c Egi j1,5 YU Jlio

3L Ruby 5 (0L slo)Slac 3)Slac 69 doliy S dloul b aslgise Jlo . Alunzo a0 4 g 03,5 CuS)s @ b 1) did) 93 @auiS ealaiwl

DSy

numl = 5
num2 = 3

puts "The sum of #{numl} and #{num2} is #{numl + num2}."

puts "The difference of #{numl} and #{num2} is #{numl - num2}."

puts "The product of #{numl} and #{num2} is #{numl * num2}."

puts "The quotient of #{numl} and #{num2} is #{numl / num2}."

16 puts "The remainder of #{numl} divided by #{num2} is #{numl % num2}."
11 puts "The result of #{numl} power #{num2} is #{numl ** num2}."

W OoONOUVTD WNBR

14 msgl = "Hello "
15 msg2 = "World!"
16 puts msgl + msg2

The sum of 5 and 3 is 8.
The difference of 5 and 3 is 2.
The product of 5 and 3 is 15.

The quotient of 5 and 3 is 1.

The remainder of 5 divided by 3 is 2.
The result of 5 power 3 is 125.
Hello World!

- Gl 00 8dlatwl Wglate (gldyhw ) Eli ¢l U (gl puts() dio jl 4ol Rl )3 . A@30 Gl |y Wylic )0 4z Yo by

aoui  Blodid Juaie po @ + )Slac dluwg 4 did)y 93 45 AiS (50 03D Wie 1Y b5 )3 .355(50 00030 |y (1> (5las g dbold ¢ 333> ks Ruby
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aalS ¢pdgl il 3 (JI> sloaliold 4 .59 aolgs> “IHello World” ais, “!World” g “Hello “ dalS 93 (h3lunz (sl + Slac jl oslatiuwl

- Vgdi50 Bi> b aslp 529y 1 S B ) il ST azgs

J """""l'-"‘:'['il']'t

Bl Ok oy

P25 S )3 el udgs gl LUS e

W3-farsi.com
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350 1B iz Claw e ) 1) 395 Cuwly Chaw e Hlade b )Slac ¢l 351 pb HiSuls (slo)Slac Ruby (slo,Slec 1,505 Eg)

1A 50 (lio |y Ruby > (pavass sbo,Slec Elgil pj Jgaz

var2 ,)lase b cauwl ply varl jlado varl = var2 =

var2 g varl gas> Jol> b cuwl plp varl )jlade varl += var2 =
var2 gvarl §)ss Juols> b el plp varl Hlade varl -= var2 =
var2 )y varl oo Jol> b cwl plyp varl )lase varl *= var2 *=
var2 pvarl quwss Jol> b cwl ply varl jlade varl /= var2 /=
var2 yvarl e’ 635ladb b cuwl ply varl jlago varl %= var2 %=
var2 gylgs 4 varl b cwl plp varl )lade varl **= var2 %

JSib Wio .l 35 53 oung) oS E65 S gBlg 5 oySlac Egi ol 51 03latiun] .3)S s3laiml (ylgiis0 jui diddy 93 Jlail (gly += )Slac )l

)yusio b a5 32350 i 1) 395 (25 (o) (1 g3aS cdls ¢pl Labbse varl = varl + var2 oyge 4 varl += var2 a5 lol

238350 i e y ) T WS g (amass bo)Slac jI e3lbiwl K652 1 doliy 2L (HVgb

1 puts "Assigning 10 to number..."
2 number = 10

3  puts "Number = #{number}"

il

5 puts "Adding 10 to number..."

6 number += 10

7 puts "Number = #{number}"

8

9 puts "Subtracting 1@ from number..."
16 number -= 10

11

12 puts "Number = #{number}"

Assigning 10 to number...
Number = 10
Adding 10 to number...

Number = 20
Subtracting 10 from number...
Number = 10

O G .l 034 831> Golais! T 4 = Slac jl eslisiwl b 10 13do g i S 13Dl sl 6345 03wl (sauass Klae ¥ jl 4ol 5o

sl 03 @S o e sac = Slac dlwg 43,5753 g .l 634 48LSI Yo Hlade += Klac jI odliiwl b T
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vy

! nlio Lglb)ilnc

aulio asui ST oy Slac ¢l .l (ikio) (g Hlaie SO pdlio ¢l A 3950 03wl p3lie dunlio (5l (glamylio (glo)Klac ;I

H5 @ Ghbyd Olgiws )3 Jgeme job @ byySlac ¢l .3idd5e Ui |y o Hlabe bl oliidl duwglie asui 519 ) )lade 3bb Cunyd Hlaboe g3

Fam3(50 U |y Ruby > (slalie (gloySlac j Joa2 - Bigdisn (b jgiaed 895 by aelsl cucl S wasys ol @ Mgy

AL plpvarsd jlagoe bvar2 )lade a5 cawl True ()0 )3 varl
Cwl False wyguaisl jué )y
Py var3 jlade L var2 )lase a5 el True (g0 )> varl

Cwl False wygaigl e )5 ails

»lhpvar3 jladoe L var2 )lade a5 cawl True (J)go )> varl

Cwl False wygaigl e )> aibls

)lado var3 jl 58295 var2 lade a5 cuwl True (S)g0 j> varl

Cwl False wygaisl jué )5 il

var3 ,ladejl ,3S5)p var2 laie 45 cul True (g0 > varl

Cwl False wygaigl yjue > L

oo b 3 S>gS var2 )lade a5 cuwl True (J)g0 )> varl

Cwl False wygail jué )5 b var3 )laso

var3 golwe b ;335,50 var2 )labe 45 cul True (,3)q0 ) varl

Gl False wygail jué )5 3l Hlado

numl = 10;

num2 = 5;

puts "#{numl} == #{num2} : #{numl == num2}"
puts "#{numl} != #{num2} : #{numl != num2}"
puts "#{numl} <> #{num2} : #{numl != num2}"
puts "#{numl} < #{num2} : #{numl < num2}"
puts "#{numl} > #{num2} : #{numl > num2}"
puts "#{numl} <= #{num2} : #{numl <= num2}"

puts "#{numl} >= #{num2} : #{numl >= num2}"

10 == 5 : False

varl

varl

varl

varl

varl

varl

varl

JUo
var2 == var3
var2 = var3

var2 <> var3

var2 < var3

var2 > var3

var2 <= var3

var2 >= var3

Binary

Binary

Binary

Binary

Binary

Binary

Binary

Slac

<>

DA s ) Laa).ilac ol 3Slac 6923 pj by
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Slac S5 1 o3kl b pugs a3 polaisl (§polie T @ 9 03,5 Sl |y puiS dunlio @ b @uolg>(50 a5 1) e 95 Il Yo JUio )3

= Slac (glo 4 == Slac j| jusio 93 duglio pSid a5 1S dzgl iSO (Rl U .S e il |y doui 9 63,5 duglie po U 1) ST (glawy o
$lamlio Slac == JSlac .a0350 pobais X @ )3 |y Hlade X = Y able (I)lc 5> 9 Cuwl (pavass Slac = Slac .39 o3laiwl 1L

Y L el plp X 3950 0353195 jgkain] g X==y diilo MiS(50 dunlio @@ b ) lads ¢35 4S5 Cuwl
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wikio glo,Slac

o3latiwl 83z (slobyid (gl el b Slac (1l 1 .l (o) Hlade S 5 Ll dmuiis g JiiS (50 Jac (sikie lylic (59) p (sikis (slo)Slac

L Ald (5Jgy H13Ee 93 var3 g var2 a5 auS (6,8 .aubb frue b false aiblgisoe (g ydlie 34i8)S b Wb a5 jghilad 39450

s i Sl

L 313)5 (50 o |y true Hlade (aiibb true Mglac 93 o S| varl = var2 and var3 and

L 313)5 (50 p |y true jlade (aiib true Mglac 93 o S| varl = var2 && var3 _&

L3135 (50 p Iy true Hladecil true Slac Byb 9 lade 93 0 L SO 5] varl = var2 or var3 or
L3155 (5o p |y true Hladecaisb true Slac Byb g3 lado 93 0 b ;S )S] varl = var2 || var3 [
L3S (50 true 15T b false (S| g false 15T b true w)le O Hlade S| varl = not (varl) not
. XS (50 true 15T Lisb false (S| g false 15T b true w)le o Hlade S| varl = !(varl) 1

&& L and (sihio )Slac

False T (693 y@ b pdlio jI o )51 &ygaigl e )3 . 31,50 |y True Hlaboe and Xlac bl and. True Slac )b g5 ydlis I

Tl 024 031> i and Slac iwyd Jgdz pj 53 .3313,5 50 p |) False jlade sibb

X Y X and Y
True True True
True False False

False True False
False False False

True Ub)lade Sglac 93 4o 45 330 US| True jlado (53)g0 53 bid Klac ¢l 45 @S0 (597 3L and Slac 56 yigr )5 Iy
olsic U .Cwl glawslio (gl Slac ;1 o3liiuwl 35l and Xlac jl esliiwl . 3ub Aolgs False (gaos (slguSys plad doui <sygail jué )d . abb

L 5L Yeoo 51 5 S>gS salary g 1A jl i3y (age) oo )51 cwl (True) Cunys pj <yle doui Jlio

result = (age > 18) and (salary < 1000)
Blgize X a5 Gl (e 1 10 <= X <= 1080 <)le Wie @15 )15 gyuo dlacl I (Lol 3930 b Lo a5 Cawl 30T)l5 (loj and Xlac
23S eslaiusl y3j ©yg0 @ and ikie )Slac jl ¢lgsi0 63g3e ¢l 5l 2,15 slacl Glail gl Jlo 3,50 |y Yoo B e slael Jolid (5)ldo

inRange = (number <= 10) and (number >= 100)
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|| bor Likis ,Sloc

ol 5 53 or Slac Siwyd Jgdz 313550 p 1) True jlade or Slac 2ib (True) cuwyd or Slac Byb ¢ )lade 93 0 b 5o S|

O FXWERIR)

X Y X or Y
True True True
True False True

False True True
False False False

30,50 515 53 1) 5 35 L aibb False (T W8yb 93 yidlie a5 115,550 p |y False jlade 3y 3 Or Slac a5 3uiS (50 63lie YU Jgaz 5

L3 Yoo o (yloiel (2lg5 0,05 L b VO j1 535 (finalGrade) jgol (isls (lgs 4l a5 Cawl (True) Cun)s (53)g0 ;3 A5 ¢l doud
isPassed = (finalGrade >= 75) or (finalExam == 100)
I b not éhio ,Slac

Iy Hor @Wasol by Hlaie G )Slac ¢l .31 5L Siglac S 4y Jaiid g cuwl () )Slac S NOT (ikio Xlac and g or gilpl g3 GWSy

132350 i ) NOT ygsll 3)Shac y1j Jodz . aiS (5o True 157 aib False S False 137 aib True jlade b <le jS1Wie .« AiS 50 (50

X not X
True False
False True

LW A (solwos b 53550 () aBE 45 Cuwl Caunyd (55)5u0 ) p1j AS dohs

isMinor = not(age >= 18)
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@i Lads 45 3950 dmogs (wyd (1l yigs Sy (5l L3S (6w |y oesly Elgil (6l JSub 45 330 6l lad 4 (i (sloSlac

30850 3L ) Sa D 6l @ o3 dlacl s 0920 9 (5L
http://www.w3-farsi.com/?p=5698

1338 1 gibgy el 3> Gl (s .ridg) b sl Gigels b juz o Cusidg S50 odliiul Gl 1 Yigasels & (29593) (5yly v >
Lo y3 dlacl y (6L slael 2iib SO b oo 3ilgi 0 ks (6l slacl ulplo 3950 e3laiwl 0 dac jI Ghgols clls (1> s glyp g
olgie 4 cunl cus A i (lis cob o g Cuwl (5l @8y SO b3 (i SO 39S (5o Yo (gline yd slacl I (glixel dlacl g ¥
0)u53 (6l 1 g o @By PVl slacl a5 Cuwlize (30 ol (el jL T 0053 (gl Lad cob F L cw PY @ int Egi 1 eals S gl JLie

T 2950 01519 135 )90 @) HiguelS Hd 390 0)uSd ANt Eo5 5l i S ylgie 4 (589 Yoo dac Jlio (gl . 3S o o3laiwl

000000000000000000000000000001100100

soyao Gilo g Cuwl ¥V (glas )3 Yoo dac 83idd (i Cawly Cuaw p8) V laial )3 .l ¥ (glaw )3 Neoleo dac Jaleo 83 (glise ) oo dac
8 3lg> a4y Cawl) Crow jl (6l dlael a5 A uS dzgl diSS ol @ 31 LS Int g5 5 dae &S ol (o Can (53)S o Glp Cwl) Craw

T adleddd 0315 i 5 Joaz )3 Ruby (iw (sl Slac . igi 0

Slac Jti
& X=y &z
| x=y |z
A X=y "z
w X =~y
&= X &=y
= x |=y
A X A=y

AND (&) (i) ySlac

3L T Byb 93 pslie 13550 )15 lgin (59 2 Sdac (1l &5 @glas ol b 32350 plod] AND ihie Slac duib (5)5 AND (i Slac
Tl 0301 y35 )3 AND (i Sac iwyd J9dz . 313)5 50 p 1) yiuo Hlade 3bb yiuo T Byb 93 30 b S0 519 11380 o 1)) lade

X Y X AND Y
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1 0 0
0 1 0
0 0 0

Gl 0301 AND (i )Slac jl oslasiusl 6920 pj 5>

result = 5 & 3

puts result

o2l ok &S @i Loy o)l 3050 S ddc ¥ g O Hlaie 93 9y p AND Slac 3)Slac doui JuiS (5o 6o lie YU Jlio )3 a5 jghilen

10T Cawd @ |y douiis

5: 00000000000000000000000000000101
3. 00000000000000000000000000000011

1: ©0000000000000000000000000000001

G slein 9355 i Glp yo jl cuwl ey (int) 32zumu0 dic )0 aSlooT 5l Ngi g0 Jadwd lig b Jolee 4 ¥ g O dac ¢ il

<3950 S dAc douh [z a5 Juagd (ylgise AND (i )Slac (i) Jodz 1 edlaiwl b iS50 63liiwl

OR([) (s yShac

Dl 0al j ) Slac ¢l Giwyd Jodz .2 Wl | yguaisl pué )3 yhio doui Al yho g3 o OR iw )Slac )b 93 plie I

X Y X OR Y
1 1 1
1 (] 1
(4] 1 1
(] (] (4]

A AlgB SO doui Ml SO Vglac 93 51 Sy kid (ST .35dL o ol Wb g3 (s aiglac 45 Gl yiuo (Si)go 53 OR iw Slac doyi

DS 429l pj Jle

result =7 | 9

puts result
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Cawd @ dou ol ho &5 @S e Gy Jlo 3950 10 doui puiS (50 odlaiwl (9 Y) YU Jlie 53 )l3de 93 (5l OR (Siw )Slac jl 45 (38

Sl 820l

7: 00000000000000000000000000000111
9: 00000000000000000000000000001001

15: 00000000000000000000000000001111
-Gl pusus 10 3ac Jslee (b W dac 1y Gausuis |y Slac ¢l jl 0dletiwl Az ¢lgize OR (iw )Slac iy Jgdz ;1 aslbtwl b

XOR(") (i ySlac

Dl 0a0l j 5 )Slac ¢pl iw)s Jgd=

X Y X XOR Y
1 1 0
1 (] 1
(4] 1 1
0 (4 (]

26 25 Jlie )3 9dbie Sy aoni Oyguaigl jud )3 yho am bl Sy 93,0 1 yio 93 o Shae (nl Bb 53 o glas 490 5>
iS50 0o line Hlade 93 (69) p |y XOR (i )Slac

result =5 "~ 7

puts result
Gl 634 6315 LS (Y g 0) YL slacl (5L Joleo pj 5>

5: 00000000000000000000000000000101
7: 0000000000000000000000000VVVO111

2: 00000000000000000000000000000010
3gads0 ¥ dAc dou [z 45 3uagh vlgise XOR i )Slac (iwyd Jgdz & (53,5 655 b

NOT (~) (5iw ySkac

Tl 020l Slae ¢l iwyd J93z 1) 53 .31 jli Miglac O @ bidd g cuwl (S Klae S )Slac (]

X NOT X
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1l 0del Slac ¢l jl eslaswl (5982 1) 5> LA (50 weSee |y gt pdlie NOT (i )Slac

result = ~ 7

puts result

<dulod dzgl Cawl 03 0315 (LIS 5 ) a5 YL Jlio (6l pinls @

7: 00000000000000000000000000000111

-8: 11111111111111111111111111111000

(shift) Ko yuuss (iw ySlac

135 10 a5 315 3929 (K6 i iw ;Slac Eg5 93 .05 l> @ Lo Cunly b o Craw @ ) gt 45 350350 6l Lad @ oy Slac Egi ¢l

oW 1) b cw (ol wls slael cwly Cuaw Vglac g Hlade SO (5l Clls b)Slac ¢l iz Coaw Vglae iS50 Joub diglac 9>

DD (50
Jlio diwd b Slac
X =y << 2 Binary K2 Caw @ 50 yus >>
X =y > 2 Binary Cunly Caw @) 50 yus <<
%Wbul&n)ﬂ.\m)ﬂcc

Jlie plgic 1 3550 Jiiio taz Chaw @ «Cunly Craw Jglac wgi 63dd Hasuwie lKe N dlaed 4 1) Caz Cuaw Wglae Sloin Xlae (ol

result = 10 << 2

puts result

DS Gy ) Jlawol U.)l),\.;b Auly Jlo q@les,S Jiiie waz trow 4 5% 93 ) o jlade slocuy bo YL JUk )

10: 0000000V 1010

40: 00000000000000000000000000101000

30 9 3950 @S LA Craw (00 jl Hh0 93 JWEDI (] )d LBledis Jhiie taz Caaw 4 Azlg 93 051351 ) loaw dad 45 A5 (50 63D Like

23940 ALl Cawly Cuaw ) yauo 93 oge
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,JLu.:UIy.ci)msuobobwul)umuml)bwdfu9mwlbwlwwouli.o)usu)iacmw)ilacwl

result = 100 >> 4

puts result
l> U_sl).ub Lo 0jlol @S (50 o @ l> o Caw @ aslg Fojlasl @ ) oo Hlaioe (slocuw Cunly Caw @) 150 juui Slac j1 oslaiwl b
a3 )18 )y 390 ) (Rl @

100: 00000000000000000000000001100100

6: 00000000000000000000000000000110

23950 LS| az Chouw 4 000 Hlg 9 03D Vi Cuwl) Craw Jol Can F plpln g0 Jiiie Cawly trow 43 3zlg Fojlasl 4 can o
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639320 (> )Slac
T30S 4295 5 Jodo @ 394 (50 03wl 639ame oyl (gl il 51 a5 35,15 399 Klac 95 Ruby >
aaogs Slac
-394 (50 Dgmo 0jb 552> 05 (Sl 45 39) (0 )5 @ 05L Sy Sl gl

239 (503 Lomo 85b 5> 5L (gleil 4 39 (50 )5 @ 85L SO Sl sy

P30S a4z 0 35 @ Slac 95 l 3)Slac b gy sl

for num in 1..5
puts num
end

2308 (500 Ol (5295 53 O dae AylAK) ahil dw @il 95 Glm 4 Vb AT )3 ST Jl> 306 (50 Gowxe 8jh > O dac a5 WS (5o 63 like
13,5 oslatiusl @@ LoyiSHIS 51 (gl 63930 Szl s ¢led (50 )Slac ¢l j
for char in 'A'...'K'

puts char
end

UH I OMMONW>
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Sluslxe )3 Ruby )3 b )Slac 35S Jlacl Iy )31 Slae plasS 1ol 43515 Bglac 93 j1 G a5 (Sluslxe 53 45 AiS(0 posuie bySlac pads
t Jlb glgic 4 3w pad5 G gl

number =1 + 2 * 3 /1
5153 9 PXP=9 Gaas HYEP) 0 3ol 9 douis @ plod] cwly & cae cuaw 1) YU )lie g @uisS el 1) oySlac pads §= b )51
A5l pAET (§2)85 ¢ Raz 4 G @umdl g Opb Jac Jlis (glp L3350 pll |y Wluslse o)Slac 0185 4) 495 b HbLwlS Ll .(3/1=9
9 390 @a 1 b £ 3ac 5T 55 . T(0 Cuwd @) F asy a5 dgds0 | o ol LT douis Guaw g ¥ 00 ¥ dde Lol Ggd JUie ) ¢plplo

Gl 6307 Ruby (loySlac 0385 pj Jedz > .3gi 50 Juol> Y dac
- s

(1L 1=

defined?

not

or and O2yieS
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pll g )Slac 45 )5 (UlgS dlxal (sl 3518550 56 Sluslore )3 e85 G 2SR L G@lac Gugmw 9 020 L slo)Slac 132
T aiS (50 oslawl jly 1 dgdse 3kl (630 (sloySlac jI lgiT )5 a5 (Sluslow
number = (1 +2 ) * (3/4)%(5-(6*7))
315 ,51)8 pow il JS15 )3 &5 (Hilc 3580 53 (61430 @) 3555 (50 )8 Al 3yg0 Al il J515 &5 Liljle jl plaS o lanl YU JUise )
L 93 )51 39850 05 0 1 s 9 03 V )30p6 7 )l3dio (5imy 3pu5(50 )8 awmlons 350 0l )SGISIS Hlade lail &)lie ¢l )3 .20 azgs
tJbe glgie 3503 )18 (b))l 390 30Tse @)l (glawl )> &5 1) lo)Slac j1 plas o 3l Tal 3L d9290 HLuSy pads G2 b Slac sz
number = 3 * 2 + 8 / 4
Y o6 ) ¥ il Gizy a0 550 Olunla )3 1) T Cunly @ Gz 3L Ladb ool iy i (SlwSy p3E5 G2 51> / 9 * Slac 93 50

<3350 5,8 number ;910 )3 g 63)5 Raz 1) W)lic 93 Az Coled )d L3S (50 EamdS F oy |y A dae Guaw 9 A6 (50
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25 51 639)9 0i8)S

23 lads oS 1) (ployiSHIS plad cuwlay die ol pb 1 a5 johilas 3550 L8 Lok jLisl )5 )15 51 (639)9 (38,5 (sl |) gets ie Ruby

DS dogl pj delp 4 L DlgB 50 Aje ) Enter aeaSs oS (Sloj U auiS (50 ol ungd 4ol basw

1 print 'Enter your name: '
2 name = gets

3

4  print 'Enter your age: '

5 age = gets

6

7 print 'Enter your height: '
8 height = gets

9

10

11 puts

12

13

14 puts "Name is #{name}"

15 puts "Age is #{age}"

16 puts "Height is #{height}"

Enter your name:
Enter your age: 18
Enter your height: 160.5

Name is John.
Age is 18.
Height is 160.5.

Gl (gal A5 ol yd print sio jleslaiwl Judos .l 6315 (i )5 @ |) (o plew print s jleslaiwl L Y g F o bghs )3 g Vb a5 )
M5 Jawgs aleMbl 3g)9 ke g b (lad 53 )15 @ pley Giolad 51 32y (pugle JSELES doui )3 IS (e dloyl LAz b print e o5
iS50 3ylg gets e jl esliiuel b 1y 395 pU 10,15 lgic @ ladd ¥ o5 53 (1 b5) AiS 3yl |y 395 0b a5 adlgs(,0 )5 1 deby . A5lo (0
D9 (50 )85 @@ 15 38 LS gl A 9 ¥ bk )3 )55 (l 35 o g |y e O kB> (F LB) 3iS(5e Jlgw |y e Lo 1 dolyy pagws
Jlo .30d dloul SGSaT gz (gl diold (;29)5 g L (5 (639)9 (U pal 03,5 sleul puts dio dluwg @ dols ks> ) @2 W b5 )

<3S 03 lio |) azus )35 3)90 p3lie (93,5 3)lg b g 63)S [yl 1) asliy
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aasas gl lisle

S real sl (gh1> anlyy S a5 23S 9.5 JI> 303 (0 phake baylyd 3 1) 35 (ghal ojlal Lad @ ungs aelip (Slel) ded Ly)ds

@)lm)glmlpMémuo)sng.\mbumLmdm)slo&u@ub(sl)Jhns.\JhnLAJbqu.\.;Sl):>||)L(b.\SdA.(D9.\th

OV E9 ol @8) Sl Galize (W oy - Rubyads 3,0l55 azlge JSie b g o 396 2 plin S uew 2BL plp Sae S b pusie
Db Loles LaT 5 e b Gido o2l )3 303 (0 4l))

if jgiw> e

if.else jgiw> o

U aw Slac *

GByiz if jgiwd e

9903 93 if jgiws e

(ko (SLm)fJAc .
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if )giwd
o0l if jgiwd .auS adlol 395 doliy 4y Glain S g0 35 SO Syl el a5 Yols bud S g if Hgiws jl eslatiwl b ylgise
D Cwl i Oygo G 1 Hgiws Hlisle 00 plosl 1) suse A5 sl jIBp by ST 36550 4l a5 Cunl (b Hgiwd

if condition
code to execute
end

(slamlio ylic 5y byb Sgiiin ol 35 s Sl a3 sy il b by 51 Sgibise gt by 132 1F g3 (sl 1 g
if jgiwd jl esliiwl 6920 & (@5 45 Lo 65l 3,5 esliiuw] by (139 sl b Cawyd G (gl (glawnlie (gl SXlac ;I ¢lgise .l
$S)3 10 51 number jlads 311y Goodbye World g el yiaS number ,laio 311y Hello World ples yj dely .@jlain dely J5I1s s

LADI(50 imlad dxdio ) b

1

2 number =5

3

4

5 if number < 10
6 puts 'Hello World.'
7 end

8

9

106 number = 15

11

12

13  if number > 10
14 puts 'Goodbye World.'
15 end

Hello World.

Goodbye World.

UeaBuiS oy a0 O 3> )5 i jgiws (gl b 89 .l 634 831> Yolais! (T 4 B Hlade g Layy=i NUMber Eb b jugie SH Y b3 )

Gl Vo 51 )5 S295 B iy Cawl yiaS lo jl number jlado a5 s®3 50

Jlo 3gi50 ol Hello World plew g (F b3) 3iSe ol |y joiwd 1f jgiwd plpls (bl Cuwyd dunlis doui a5 Cuwl (sikio
9 AS(;0 duglie Yo b Iy number )lade doby pawyso W b3 )5 1 jgiwd (paegd @ (89 (1o L5) @30 ,uss 1O & |y number lado
Iy if joiwd a5 23S a3 iS5 (il 4 .(IF k5) 3S,0 il | Goodbye World plew deliy Cawl y55)50 1o 5110 (sisy number jlade (g2

HECVAIN L G SR I

if number > 10; puts "Goodbye World." end

if jgiws J51d ) | Hgiwd iz 3ulgise lad .30 )h8 (IShaw colle SO by jl a2y b S (50 s3olie YU AT )5 45 jgbila

D Cwl ) Oygo © iF G PS5 ) Heiwd Mo Lyl 69 L dunghy end dalS I a8 1) T dad CunadlS L Jumigly
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if condition

statementl
statement2
statementN
end
2 odlw Jlio SO po (ol
X = 15;
if x > 10

puts "x is greater than 10."
puts "This is still part of the if statement.”
end

if o giwd 390 53 )50 Jlie L 3gide Ol plw 93 Lbb K555 Yo 51 X Hlade 51 YL Jlio )

print "Enter a number:
firstNumber = gets.to_i
print "Enter another number: "
secondNumber = gets.to_i

if firstNumber == secondNumber
puts "#{firstNumber} == #{secondNumber}"
end

if firstNumber != secondNumber
puts "#{firstNumber} != #{secondNumber}"
end

if firstNumber < secondNumber
puts "#{firstNumber} < #{secondNumber}"
end

if firstNumber > secondNumber
puts "#{firstNumber} > #{secondNumber}"
end

if firstNumber <= secondNumber
puts "#{firstNumber} <= #{secondNumber}"
end

if firstNumber >= secondNumber
puts "#{firstNumber} >= #{secondNumber}"
end

Enter a number: 2

Enter another number: 5
2 !1=5

2<5

2 <=5

Enter a number: 10
Enter another number: 3
10 =3

10 > 3

10 >= 3
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Enter a number: 5
Enter another number: 5

S50 0 51 (63959 plgic @ 1) Vg duslio po b Cunsl HI)8 a5 d3c 93 I3l . @3le3)S eslaswl if jgiwd ) (glawslio (slo)Slac jI Lo
iR Sl (g 3o by 4 34l aibls a2gl di ol @ S8dse QL elay 9 Cunyd byl ST g Nigise amlie @a L dlacl

<Al (o flase L true )lado g5 ghyld

J avascript
bl L'.I"‘J o

Kotlin

83ka gl g

Pj Sl )3 el Hudgs gl LS plw
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if..else ,giws

by )51 3a@lgi ladh oS (loj Lol .39 planil (ol> )18 392 )8y Gl ST imy 39)0 )8 @ o>l S hal gl bid if Hgiws
sdol pj )3 if else jgiws jliskw .auS esliiusl if else jgiws j1 b 394 Lol 505 H9mwd 395 51,8y 51 g )giwd Sy b Hl)8 (Lol

T Cawl

if (condition)
statementsl
else
statements2
end

aS g 50 ol ()90 5> ks else Soby J5I5 aS o 63y )5 4 if L 1L Lot asly 3,5 oslatiw] (RS W hlgi e else (gauls aals )l

<l oaol if.else jgiws jl edlasiwl 6gss 1 53 . 3bb Cuwydb if jgiwd 51> by

1 number =5

2

3

4  if number < 10

5 puts 'The number is less than 10.'°

6 else

7 puts 'The number is either greater than or equal to 10.°'
8 end

9

10

11  number = 15

12

13

14  if number < 10

15 puts 'The number is less than 10.'°

16 else

17 puts 'The number is either greater than or equal to 10.°'
18 end

number is less than 10.

number is either greater than or equal to 1.

Cawl yiaS (592 9 4 b Cuwl yiaS 1o I nuMber yi2io jlado LT a5 EuS (50 Cawd F oS )3 g @163,S Layy=i number pb 4 2o SH ) b3 )
Gyl by (N 5) @ s 1ol 4185 ()10 @ g @ yuss |y number lado )51 9 (0 k3) d9b50 ol if Sgly J515 35 dzis )

(WY b3) 39450 Lyol else Sgb (S5 a5 g (IF b3) 24
IR = 9 EalCy
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if..elsif..else ygiwd

1) Oygo 4 1) if Olgiws ¢l a5 cunl yigy g 45 oslitiuo] 1 Hgiwd (pdiz ;1 Algi e T3S0 ) Kz 3uiS )y |y by Lz Juslgsy 5]

if (condition)
code to execute
else
if (condition)
code to execute

else

if (condition)
code to execute
else
code to execute

end

end

end

TS yieske |y YU 35 3lgise gy else Sob 515 )5 (Kb i ¢ygo @ |y lgiwd Cunl yigy .Cunl o Vb A5 (Ailgs

if (conditionl)
code to executel
elsif (condition2)
code to execute2
elsif (condition n)
code to execute3
else
code to execute4
end

Iyl 8y elif jgiwd .ol dimvlg if jgiwd 4 ju elif. else wile a5 35l 23b 238,55 |y if else jgiws jl eslaiwl 69z a5 Jl>
503 Cules 53 390 Ll juo (T )51 g 300 ol (gam elif jgiwd il oluibl elif (51 Jlo bl obiiidl if jgiwd gl a5 dgdd(s0

D30 gl |y elif,guws jl eslaiwl 6920 ) aoliy 390 il else

1 puts 'What\'s your favorite color?'

2 puts '[1] Black'

3  puts '[2] White'

4  puts '[3] Blue'

5 puts '[4] Red'

6 puts '[5] Yellown'

7

8 print 'Enter your choice: '

9 choice = gets.to_i

10

11 if choice ==

12 puts 'You might like my black t-shirt.'
13 elsif choice == 2

14 puts 'You might be a clean and tidy person.'
15 elsif choice ==

16 puts 'You might be sad today.'

17 elsif choice ==

18 puts 'You might be inlove right now.'

19 elsif choice ==
20 puts 'Lemon might be your favorite fruit.'
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else
puts 'Sorry, your favorite color is not in the choices above.'
end

What's your favorite color?
[1] Black

[2] White

[3] Blue

[4] Red

[5] Yellow

Enter your choice: 1
You might like my black t-shirt.

What's your favorite color?
[1] Black

[2] White

[3] Blue

[4] Red

[5] Yellow

Enter your choice: 999
Sorry, your favorite color is not in the choices above.

a5 (33c 1 3gd 50 Ol Lilize (slgoley 3uiS (5o LDl Gz 42 lad 4l G diwy .l diusly choice joie 4 Vb doly 29)>

<3950 hol else Sgby 4y bgyye 35 il wlil glgdls Y515 50 23S 50 i ek
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oY

9 & 1f jgiwd

S0 1f Hgiws Y515 )5 if edlw joiws G .35 eslaiw] Ruby 3 g3 )5 g5 if Hgiws j1 lgise

if (condition)
code to execute
if (condition)
code to execute
elsif (condition)
if (condition)
code to execute
else
if (condition)
code to execute

end
end

end
end

1 print 'Enter your age:

2 age = gets.to_i

3

4 print 'Enter your gender (male/female)’
5 gender = gets

6

7 if age > 12

8 if age < 20

9 if gender == "male"
10 puts "You are a teenage boy."
11 else
12 puts "You are a teenage girl."
13 end
14 else
15 puts "You are already an adult."
16 end
17 else
18 puts "You are still too young."
19 end

Enter your age: 18
Enter your gender: male
You are a teenage boy.

Enter your age: 12
Enter your gender: female
You are still too young.

D s 1y 93 55 o3 if )giwd jl edlatin] 692 a5 3y 65l

A5 e Jlow Ladb I o lumiz 0)b)5 F b5 53 (1 b3) aiS e Jlgw ¢liw 6)b)d Laid jl deby 14l . @uiS (81546 A 1) doliy a5 uo sy ol

Gyguaisl g 53 390 1F Hgiwd 43y 3)lg Aol 3L Juo W 1 yisin lasd ¢y jS1 Ceamd ¢l )3 (Y b5) dwyse 1F Hgimwd gl 4 Guaw

390 1F jgiwd (aed 0 bgiye (IY k) else Sgly 3)lg

LAUiS (50 03l 1) 505 if jouws 93 if gl by )3 . aledds i gl 43 3)lg Lass g Cunl Jlo W1 yiiw Lasd uw a5 @uiS 68 Jlo

O 45 iS50 J0)9 6)bgd (¢ b_>) Ve ol L bl else Caawd 4 Ll )fl 9 W50 09d 1T 33y 3)lg Lo AiL Yo yiaS Ow;l
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2550 )8 G 390 Leds Cpmizz laial )3 (3 25) 3gibs0 a2lge )03 1 S b g 02 pgd 1 @33y 3)lg ©)y9mial )3 ABL Vo 51 yiaS Ladd
(W b5) sgis0 ol if ¢l & boiye else Cuawd Oygaigl e jd dgids0 ol if uogw G J5I5 (sloas aibb “male” plp S| as

39150 ol |y oliy (blgd (o2 S edlatiml yiaS doly > 935> o3 if jl a5 dgd 0 dlgiuins
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wikio (gySlac jl o3kl

Hlade G 5T 53 g JiS e 5 50 1) by 93 JBlas ySlac ()l . 3uiS wuSys @@ b |y by ¢piiz 45 352350 0jla] Lads @ (sihie s ySlac

 Cunl el ihio oySlac I (53 p) J9dz > 313 S50 o |y g

b true ¢liylade )Slac Byb g3 by 93 0 45 cuwl true (Shgo j3 Z Hlade
z = (x> 2) and (y < 19) and

.3 g false z Hlade Al false bgyis jl (550 )laioe bid S|

true ¢li)lade SXlac Byb 93 by 93 51 S &5 Cwl true (3)go )3 Z Hlade
z = (x> 2)or (y < 19) or

.3 g false z Hlade wbb false liyldie by 93 4 ,S|.aubb

cawl false (Jyg0 > g 3l false by lade aS cawl true (J)guo jd Z )lade
z = not(x > 2) not

LAl true by Hlade a5

9 2 ;1 35 X lade a5 Cuwl true plp z )l3de (3o 53" 1awilgsu Wygo el wlyz = (x > 2) and (y < 10) des Jlie ¢lgic &
4 Hlade 1L ABL true Hgiwd S Hlade aSiyl g &5 Cunlizo (4 dlaz (ol "Cwl False wygail yae )3 Abb o 1 )5 S>gS y Hlado
)lado baid 31 cuel true ply or ihie Slac doui .3y and ékie Slae & Cawd (glite 5T or Likie ,Slac .aib true boyis
@@ b lyor g and (ikis so,Slac lgise . b Aolg> false azui Lils true by j o guo jlade S g .20k true boyus I S
2 Ailo 3y )15 4 wylie SO 5D 9 83)F LaS)S

if (x == 1) and ((y > 3) or z < 10)

end

P o (Y > 3) or (z < 10) ¢yle il Lol )d . axiS e o3liiw lghbyis (530 09)5 )5 T 51 9z Cawl g0 j0ly 5l eslatiwl gl y>
51 ealatial 0920 by Jlo 390 duglie (X == 1) asyi b and Slac dlwgy ol dsui o (Lo,Slac pads cde 4)) 3,50 )18

P b8 Gup 3yge |y delip ) (ke (gloySlac

1 print "Enter your age: "

2 age = gets.to_i

3

4  print "Enter your gender male/female: "
5 gender = gets

6

7 if age > 12 and age < 20

8 if gender == "male"

9 puts "You are a teenage boy."
10 else

11 puts "You are a teenage girl."
12 end

13 else

14 puts "You are not a teenager."
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15 end

Enter your age: 18
Enter your gender (male/female): female
You are a teenage girl.

Enter you age: 10
Enter your gender (male/female): male
You are not a teenager.

N3850 S |y Lasd a0 oy (V 25) Juwnys0 1F jgiawd @ (5389 . (V k5) 32350 (Ui |y and ke )Slac ;1 e3liiwl 6950 YL doliy
g 50 hal if Soby J&51s loaS Guaw 3L true 93,0 )lade iy (3bb Yo 9 W o ULum) AL Yo 5l yiS>gS g WY )|).S))J Lo (yan
Hlade )51, 30350 518 w)y 3y90 |y iz Caw Miglac and Slac .3gi 50 Lol else Sgb J515 oS ail false bgyib jl (S doun SI
)P Nge |y iz Caw Jglac or Slac (uSe p 3513550 p |y false jlade g 8iS(5e0 () |y Cunly Coow Biglac ;505 abL false ol
013,550 1) true Hladoe g 3,550 63030 1) Cunly Caw diglac Guaw 3bL true ¢ jlaie 519 o350 )8

if x == 2 and y == 3

end

if x == 2 or y == 3

end

Slac SO ol p ogie . 3513)S (o |y (ke (1) o b (> s1p) | dhinsad ikie )Slac .3)13 3929 @yl 93 (in § (ke (slo)Slec ¢
03330 g3 by 394 Hasive Jol byibs (w0 jl g azu® 5145 ime ¢l @ IS (0 e3lbiwl duslze (glp "aligS Jlasl” Ghio j| (ikie
ool )S1.05L true asun B aidbl pusuo 1 by 93 0 a5 @uild ;o0 AND (ihis Slac j1 osliiwl 0B (Jbo lgic 4 .39 (50 418)S
51 03] S CusSys doliy )3 1) loboyis (51,555 (505 L8 () 350 093 boyis doui )3 g A Ablgs> false asui (bl false Mglac
SO douis @S el not Klae ihio loySlac 1 505 (S3 .39 Wlgs i or g and i s)Slac (gl> @) or g and ihie (o )Slac
P38 d2g3 pj YU 4 S5 Ghie b S | ©)le

if not(x == 2)

puts "x is not equal to 2."
end

LAiS,e true |y T not Slac aib false ply x == 2 &)lic aoyn )51
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case )giwd

H9wd L3l bl LDl iz e SO ol Hlade 4) a9 b a5 a0 o5l lad 4y a5 3515 3929 case pb 4 (g)lislw Ruby )
CAS (50 Joab |y o)iShS b g i) olacl 51 SoU jolioe s jueio case jgiwd jd a5 wylad (! b cuwl if..elsif jgiws Jsleo case

T Gl 030l case jgiwd jl odliiwl 6955 5 )3 Ay pud (PB a5 Jiwd (pdlEe ol polie

case (testvar)
when expressionl
statementsl
when expression2
statements2
else
statements3
end

auylio case Soby J&Is when (slgd)lic 51 SO o b Hlado ¢l .aamd0 )8 cuwl testVar YU Jlio ) a5 case juio )3 Hlade G lawl
S dg5 AiSS (] @ .b Jolg> Lol when o & bgiye 35 399 plp when lygiws )3 39mg0 p3lie jl SO o b juie Hlabo S| .39 (50
a5 3gd 50 Iyl ()90 )0 Hoiwd (gl .3l else idw S case Hgiwd g (g i Wlygiwd dlaei when jgiwd J515 ) )lgi (0 a5
Al (LBLAS] e 39 WBis case Gl ST g cul (gl else jgiwd bl ply when algiws ydlios jl S guo b jusio Hlabe

1 A4S a9l case jgiwd 390 ) (Jlie 4 .39 aidgs when wlhgiws bbb ;> Wb Hgiwd ¢l

puts "What's your favorite pet?"
puts "[1] Dog"

puts "[2] Cat"

puts "[3] Rabbit"

puts "[4] Turtle"

puts "[5] Fish"

puts "[6] Not in the choices\n\n"
print "Enter your choice: "
choice = gets.to_i

case choice

when 1

puts "Your favorite pet is Dog."
when 2

puts "Your favorite pet is Cat."
when 3

puts "Your favorite pet is Rabbit."
when 4

puts "Your favorite pet is Turtle."
when 5

puts "Your favorite pet is Fish."
when 6

puts "Your favorite pet is not in the choices."
else

puts "You don't have a favorite pet."
end

What's your favorite pet?
[1] Dog

[2] cat
[3] Rabbit
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[4] Turtle
[5] Fish
[6] Not in the choices

Enter your choice: 2
Your favorite pet is Cat.
What's your favorite pet?
[1] Dog

[2] cat

[3] Rabbit

[4] Turtle

[5] Fish

[6] Not in the choices

Enter your choice: 99
You don't have a favorite pet.

9 iS50 dlg Iy dac Lok .l 63 631> Casund dac Sy lgas 10 @wl 4 LaB30 |y HLBABNe 390 (hlous Gl ojla] Lad @ Vb dobiy
L o )S1.00b aolgs 03l iulad Caslio plowy 393 ply a5 yadlie (T jI plaS o b g 94,0 dunlio When pslie b case jgiwd )d die ¢yl
A5 3y90 5lade Auilgi e lasb a5 Cuwl (] case jgiwd SlesSiag 51 505 (So gdds0 Iyl else jgiwd 395 plp Lo when psliae jl plsS puo

13950 lyzl A5 SO B P L Y o) e number lado )51 5 JUie 53 . auiS dwlie when <G J51s )3 jlade 3z b 9351 L 1) 395

case number
when 1, 2, 3
puts "This code is shared by three values."

end
D Cigd (ylgise ju 1) o @ ) Vb aoliy cwl if.elsif jgiwd Joleo case jgiwd b 55 Wé oS johilas
if choice ==
puts "Your favorite pet is Dog."
elsif choice == 2

puts "Your favorite pet is Cat."
elsif choice ==

puts "Your favorite pet is Rabbit."
elsif choice ==

puts "Your favorite pet is Turtle."
elsif choice ==

puts "Your favorite pet is Fish."
elsif choice ==

puts "Your favorite pet is not in the choices."
else

puts "You don't have a favorite pet."
end

SaolaS (if else g case) giws 93 ol o jl Jlo . 2ibo e1se joimws Jsleo else jgiws .3)l5 case yoiwd Ailo (gldmui s Vb a5

b col 394 duglie ydlie ;503 b el 0 45 (5130 45 @S0 63liinl ;2850 Case jgiws jl .auS wlxwl |y
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1wl 630l Slac (¢l j1 03wl 695 p3j 53 .AiS (50 Jac if.else by jgiws 3ile Ruby )3 by Slac

condition ? true : false

byis a5 (Sloj Hlaie G g by bl )y by a5 (Hloj Hlade Sy 3)l> Liglac dw @ jL5 a5 sl Ruby (U dw Slac i by Slac

cead 58 )y g0 dolip J515 )3 1) Sl (pl edliw] 6955 45 o3 5l L AL Gy

petl = 'puppy’

pet2 = ‘'kitten'’

typel = (petl == 'puppy' ) ? ‘'dog' : 'cat'
type2 = (pet2 == 'kitten') ? 'cat' : 'dog'
puts typel

puts type2

dog

cat

Slox,)l,8 typel juis ;3 |y dog jlade 45 3gis (50 damyi Oygo ol 0 F b 30350 Wid |y (b )Slac ¢l 1 03laiwl 6950 Vb by
type2 ;s | cat )lade a5 950 dazyd Wygo (] 4 O k> 00 ,])8 typel |) cat )lade wygo ¢l ju& )d 39 puppy L plp petl )lado

tpagise 1 else jgiws jleslaiwl b 1) Vb doly Jl> dog. jlade wsygo ¢l jué )3 3 kitten b plp pet2 )laie 1o I8

if (petl == "puppy")
typel = "dog"
else
typel = "cat"
end

355150 9L |y deby (Lles (o2 1SS eslitiml by Xlac jl 3y)ls else by if Sgb G J515 53 jgiwd (piiz &5 Lo
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S

Lais HHSS (sl lisl )93 .3 HLST cawl jh8 )y byd SO a5 (Hloj U 1) 35 Hgiwd iz b SO o5 3iod50 ojll lad 4 )|)ST slo)lisle
Jle 365le 3uiS ol 1) “.Hello World” alas )b Yo a3jgume Lad Wie .l 63565 duns jlws a5 Juwgi |y oS 3lass lad 33)51m0
o)

puts "Hello World!"
puts "Hello World!"
puts "Hello World!"
puts "Hello World!"
puts "Hello World!"
puts "Hello World!"
puts "Hello World!"
puts "Hello World!"
puts "Hello World!"
puts "Hello World!"

L3S (g5 (sl yigr ol .3)9T(0 L ) Gun93AS i JS )3 )15 ¢l g Jamnigiy ey |y 35 31325 (5l 93)5 (25 b AilgSise ladd ainl

;51 ai5)le Ruby > oddls  cawl oadls jl eslaiwl Vb

while .
for in .
until .

each .
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While adl>

09> WIS Aib HLEy bbb aSuilo; U g 3350 518 wyp 390 |y byd O 1okl .cwwl While ddls> Ruby ) LS5 )liske ¢o)d52lawl

D Gl pj ©yg0 4 While dils )lidle . Lgd0 hal Sob

while condition

end

Gy dzui )51 s gise Cawl (Jou jlaie S ol dsui oS |y by O 1l .Cunl 05w jluws if Hlisle 35l While jlisle 45 uiuse
51 plaSoud swyp While dils> 43 doby 45 (Si8g 3L false b ble by 51 .35gb50 Lol While Sgb J51s (loaS Gmaw L true b

. 2gi ol While dils o1y yslie b didls ¢aib wWigio (gl A a5 ol |y bas

O (e O dil> @Bg5 b doldl g 3,550 )18 eslaiuwl 3y90 by LinlejT (gl 635)ladd (] @yl jLb dils> 30 J515 53 635)ledd jusie SO @

! Gl oa0l While dil> jl eslaiwl 092 p35 deby 5> .@aed Ginl3dl b GielS LU G P51 53 1) 035)ladd ()l .Cuwsl diuwlg T

counter =1

while counter <= 10
puts "Hello World!"
counter = counter + 1

end

World!
World!
World!
World!
World!

World!
World!
World!
World!
World!

ojlal .@uS ol |y i 1o plals @339) joumee @33,5 (505 63wl YU Jlie )5 dils> 51 S1.355 e ol |y Hello World! plew ;b 1o YU doly
Of U Guws . Cusl 034 o3liiwl dils 635 )lads ylgic & (T j1 9 Cayyei jsie SO ) s )5 labl @)l G99 doby iS4 Lol a5 L

sl plp T b b Cusl yiaS Vo I LT &S 390 duglin Vo b 015)lass dulgl jlado lanl while dils ) .@uiS 50 3)lg |y while dil> ¥ b >
Azlg SO 835 lai Hlade dunlio )b yo jl a2y S (50 030 LIe aF jghiled .Cuwl plew il g While dil> 453 4 3g)9 duwnlio )b o azuD

3B yieS o 31 635,)ladd Hlade a5 3450 LSS (Hiloj U dils (0 bs) 39,0 48LS]

S 4zgl diSS ol 40T e 3929 U Culgin dils S dgdn False (5,0 by jlade b g a5 Ginlidl ) (T ¢ Bl S5 035)lasd Hlabo )51

9 Cuwl | algl Hl3bo (a2 Mo HLST 5L A Lo 35 @3S (50 edlaiml < Cuode 1 ST sl 63 o3l <= jl < Cuole (Gl @ YU by )5 S
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3gui LaBgie 6Boud 45 1S dloul Cule (5 dils S LdlgSse S .Cuns 10 < 18 (g2 g0 Talse Jwp lo @) byb a5 LKin
LAGL (true) cuwyd o)lgad a5 auS Syl bus S 1L
while true
end
ol uogd 03T 5> a5 return g break wlygiws jl eslaiwl b Ludlgdy Lok 45 cuwl (Sloj (T 9 315 (L 3)lge By ) SLiST (]

<90 2)ls adls sl

J avascript

w3l sy

yj Sl )5 (paadlpl Hudga gl LS ulw

W3-farsi.com
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for..in aal>

1) o 4 for..in dils )lisle .ao3,0 plosl while dils @ dud Glac dils ¢l .cwl for..in dils )1)S5 gl lisbe 51,505 S

T Cawl

for iterator_var in sequence

end

oSyl |y for dils 4lgi (50 .3bb ... g 4l w3game SO Llgi (0 a@ sequence g aulS dalS in (;i8ge yusie Sy iterator_var

1wl oaol for..in dils 1 Jbe O 3 53 (35 )T ) aS b bo)lS Wb (g0 )3 39250 (Gl @i dlaes @ b (glil 4 a5 )5 das)s

for i in [1, 2, 3, 4, 5, 6, 7, 8, 9, 10]
puts "Number #{i}"
end

Number
Number
Number
Number
Number

Number
Number
Number
Number
Number

VWoOoNOOUVTE WN R

=
®

slacl 5l gy S 3T 55 9 in (g3ulS dalS Gugw (1) (5890 yaio SO labl . 3)lad o for..in dil> ;1 eslasiwl b 1) o B 1 slacl Vb aoby
aid)S )18 i pusio )d )T o @l jl SO 1Dl g (50 ol dils a5 )b 0 390 [zl 35 . @uiS(,e Wyyed bl (o GLT SO Lol )3 oS

T3S eslatiw] @ 8390 jl aulgl (5o YL AF )3 LT Gl 4 0L (5o oldl @iT ()3T Llz )15 (gl .29d (0 Ll a2y b3 )3

for i in 1..10

end
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until ,giws

until jgiws lislw .33)5 Lol B sl false b ply 2L o Gbyb @ybe a5 @glas ¢l b 3)ls while jgiwd & (63L) Cadlid jgiwd ¢yl
tCawl ) Wygo @

until (condition)

end
1S dzgi 5 JUe @b false L ply condition by <ylic Hlaboe 45 33)5 (50 Lol (Siloj statements <sylic YU jgiuws >

counter =1

until counter > 10
puts "Hello World!"
counter = counter + 1
end

World!
World!
World!
World!
World!

World!
World!
World!
World!
World!

Cawl 4553 10 5 Lo pusiie jlade LT a5 394 ;0 Sz ¥ s 53 @l dibliS | ply 1) ol Hlade g @il 63)S yyel pusie S ) 5> )3 g YU A5 >
Ur9S=e Wygo @ |y until jgiwd .39 (5o 1yl O g F bghs g odid false Lo by douid )3 Cunss yi5)5 Vo jl o yuie jlado (92 S b
tCwl pj ©)g0 4 HugSeo until

code
until conditional

begin

end until condition
PS5 dzgl pj JUo

number = 1

begin
puts "Hello World!"
number += 1

end until number > 10
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World!
World!
World!
World!
World!

World!
World!
World!
World!
World!

93 9w Whgiws )b Sy JBlas a5 39 (50 Cucl (il g EuS (50 sy |y dils by 5T s 53 Lo S (0 83Lie YU 35 )3 &S jghilo

. Mg L=l end g begin aals
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each ,giws
Tl pj g0 @ dils (plHlisle . Abb (50 Ruby 53 15T b dil> 51,505 (So each dils>

Iterable.each do |variable|

end
e 4z ol 5> GlT L g 83ga%0 yolic a5 Cuwl (SBgo jusio O @ Variable .ol edgame b 4l)T S5 lg3 (0 Vb 35 )3 Iterable
P34S 4295 pj Jlo @ 39 (50 033195 T 1 () il (ghal )b o b g K9

myArray = [1, 2, 3, 4, 5]

myArray.each do |number|
puts "#{number}"
end

13,5 edlaiwl yj Wy 4 @B 83930 S I (ylgT (50

(1..5).each do |number |
puts "#{number}"
end
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next ¢ break jl sslaiwl b ddls jl (o g )l

S35 dalS jl osliiunl b Saumd plool |y IS ¢l johao a5 Cuwloipl Jlguw . 394 Libgio dils> @udlgs 10 by ()39 Caunyd d92g b Blgl LB
sl eslaiwl 6926 15 dobiy .8y A=y dyo 4 9 3)S ) 1) dils | dadn (lgise nNext (gaulS dalS j1 edlatiwl b g 63,5 aSgis |y adl> break
DAy s |) break g next

puts "Demonstrating the use of break\n"

for x in [1, 2, 3, 4, 5, 6, 7, 8, 9, 10]

if x == 5
break
end
puts "Number #{x}"
end

puts "\nDemonstrating the use of continue\n

for x in [1, 2, 3, 4, 5, 6, 7, 8, 9, 10]
A7 % ==
next
end
puts "Number #{x}"
end

Demonstrating the use of break

Number
Number
Number
Number

Demonstrating the use of continue

Number
Number
Number
Number
Number
Number
Number
Number
Number

P OWoONOP,WNER

dzui M50 03wl while dil> I for (glo @ )51 Cusl 634 83lisiuwl §98 (53ulS dalS 93 3yl (431> LS (glp For dil> jl dely ¢l )d
5 (0 b5) Izl break jgiwd (uus duwyp O e 4 X Hlade a5 8y !l 610l (F b3) dolip by )3 a5 jghilad .Jel ;e Cusd 4 (HlwSy
9 034 Libgie ols )LSI S (gly kidd for dil> \F b )5 )50 Byb 1.0 jhdpn X < 10 by S| (Lis g0 Cabgie dlolbly dil>

(Vg0 Olz pdlio dudy g ASe Ol 1) O lade g oadd 3) 0 dils> 390 O plp X Hlade (;i8g) . b0 dols] Guuw



£V osw (4bj 43 Ruby

dglii

Sl pasie (pdis Wiyl ALS (10 0053 395 )0 |) Egiad jué by Egiad (Lo 6313 j1 (gl dcgamo (Glgw)dT | i a5 Cuwl e (se65 yl)
litaka .S aslatuwl 3T jl g 63,5 Cayyel pasuo dlacl Egi j judio Lo Juolgsy )51 Wis .Cunl 6355 s Hluwy (S 830 gl Eoi
o3l @l) 135 5> .3)S Layyel ks Sy o 1) LT e (g5 (o T 1 ealisiwl b Lol .ol 8345 dind g 59T CllwS jluwy jusio dad ¢yl Liyyei

Dl 6db 031> lis T SO Wyl (glp
numbers = Array.new
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numbers = Array [1, 2, 3, 4, 5]

numbers = Array.[] (1, 2, 3, 4, 5)
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numbers = []

numbers([0]
numbers([1]
numbers([2]
numbers([3]
numbers[4] =

[0}
uuh wNn R

SahT pwsil agls ggac & QT SQ lad JUo plgic 42598 5o pi> @l Job jl yiaS 32lg S a2 9 0id Egyid yauo 1 )T S Yl

Vol g cuwl T giac (gl 6305 (LS B Gyl 45 Cuwlie (la ol L b Cawl ply 071 Guy Gl & QLT Job (92 3ol (0 F Lo

P S 429 JSib 4 VL JUio yigy )5 (s BT Gl g guas paegd s3ims (L

numbers array
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numbers[@] numbers{1]  numbers[2] numbers(3] numbers[4)]
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numbers = Array.new(5)
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numbers = [1, 2, 3, 4, 5]
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numbers = Array.new(5)
total 0
average = 0.0

i=20

while i < numbers.length
print "Enter a number:
num = gets.to_i
numbers[i] = num
i+=1

end

j=9o

while j < numbers.length
total += numbers[j]
j+=1

end

average = total / numbers.length
puts "Average = #{average}"

Number @: 95
Number 1: 85
Number 2: 80

Number 3: 87
Number 4: 92
Average = 87
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array_name = [ [valuel,value2,value3], [vall,val2,val3] ]
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numbers = [
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2, 3, 4, 5],
7, 8, 9, 1e],

[11, 12, 13, 14, 15]

1;
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numbers = [Array.new(5), Array.new(5), Array.new(5)]

numbers[0][Q]
numbers[0][1]
numbers[0][2]
numbers[0][3]
numbers[0][4]
numbers[1][Q]
numbers[1][1]
numbers[1][2]
numbers[1][3]
numbers[1][4]
numbers[2][Q]
numbers[2][1]
numbers[2][2]
numbers[2][3]
numbers[2][4]
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nestedArray = [
[1, 2, 3, 4,5 1,
[6, 7, 8, 9, 10 1,
[11, 12, 13, 14, 15]
]

for array in nestedArray
for number in array
print "#{number} "
end
puts
end
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studentGrades = [
Array.new(4),
Array.new(4),
Array.new(4)
]

student = ©
while student < studentGrades.length
puts "Enter grades for Student #{student + 1}"

total =0

grade =0

while grade < studentGrades[student].length
print "Enter Grade ##{grade + 1}: "
studentGrades[student][grade] = gets.to_f
total += (studentGrades[student][grade]).to_f
grade += 1

end

puts "Average is: #{(total / (studentGrades[student].length))}\n\n"
student += 1
end

Enter grades for Student 1
Enter Grade #1: 92

Enter Grade #2: 87

Enter Grade #3: 89

Enter Grade #4: 95

Average is 90.75

Enter grades for Student 2
Enter Grade #1: 85
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Enter Grade #2: 85
Enter Grade #3: 86
Enter Grade #4: 87
Average is 85.75

Enter grades for Student 3
Enter Grade #1: 90

Enter Grade #2: 90

Enter Grade #3: 90

Enter Grade #4: 90

Average is 90.00
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Grade 1 Grade 2 Grade 3 Grade 4
Student 1 92 87 89 95
Student 2 85 85 86 87
Student 3 90 90 90 90
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def methodName(Parameter List)
code to execute

end
Dl 03 o3l Ginled dmbio ) plea S Rl (gl Ao SOl dely (al D LauS dzgT 5 el doliy 4
1 def printMessage
2 print "Hello World!"
3 end
4
5 printMessage

Hello World!
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def methodName
return value
end
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1 def calculateSum

2 firstNumber = 10

3 secondNumber = 5

4 sum = firstNumber + secondNumber
5

6 return sum

7 end

8

9 result = calculateSum
10

11  puts "Sum is #{result}."
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1 def getNumber

2 print "Enter a number greater than 10: "
3 number = gets.to_i
4
5

if (number > 10)
return number
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6 else

7 return 0

8 end

9 end

10

11 result = getNumber
12

13 puts "Result = #{result}."

Enter a number greater than 10: 11
Result = 11

Enter a number greater than 10: 9
Result = @

Gy )15 lawgs 03 3)lg dac 1 . adlg> o0 |y Yo jl 415 dde S )5 1 &5 Cuwl i Layyes getNumber ob b e S -4 bghs >
U5 Pl
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1 def testReturnkExit

2 puts "Line 1 inside the method TestReturnExit()"
3 puts "Line 2 inside the method TestReturnExit()"
4

5 return

6

7

8 puts "Line 3 inside the method TestReturnExit()"
9 puts "Line 4 inside the method TestReturnExit()"
16 end

11

12 testReturnExit
13 puts "Hello World!"

Line 1 inside the method TestReturnExit()

Line 2 inside the method TestReturnExit()
Hello World!
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def methodName(paraml, param2, ... paramN)
code to execute
end
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1 def calculateSum(numberl, number2)
2 return numberl + number2

3 end

4

5 print "Enter the first number: "
6 numl = gets.to_i

7

8 print "Enter the second number: "
9 num2 = gets.to_i

10

11 puts "Sum = #{calculateSum(numl, num2)}"

Enter the first number: 10

Enter the second number: 5
Sum = 15
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def methodA(mymethod)
return mymethod
end

return "Hello World!"

1

2

3

4

5 def methodB()
6

7 end

8

9

puts "#{methodA(methodB)}"

Hello World!
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Dl 0ad 031> (i dgd 50 (SleS]ys Ao
functionToCall( paramNamel: value, paramName2: value, ... paramNameN: value)
DS 429 pj Jle 4 Jlo

def tellinformation(jack:, andy:, mark:)
puts "Jack's family is #{jack}."
puts "Andy's family is #{andy}."
puts "Mark's family is #{mark}."

end

tellinformation(jack: "Scalia", andy: "Brown", mark: "OverMars")

puts
tellinformation(andy: "Brown", mark: "OverMars", jack: "Scalia")
puts

tellinformation(mark: "OverMars", jack: "Scalia", andy: "Brown")

family is Scalia.
family is Brown.
family is OverMars.

family is Scalia.

family is Brown.
family is OverMars.

family is Scalia.
family is Brown.
family is OverMars.

polaizl plidbgys (loyiohly 4 cunlio j3lie @B 585 |) Mo (Slg>)d )b w53 ilegS)T Caiys Lo )1 i &5 3030 YU 529>
205 G ) ((5)1380) ol (5leslegS)T cdie (Silg51)s ol 3lgs (500 K03 IS (50 63laiw] (gauS dalS (5o (ylegS)T jI (89 39450 631

1090 (50 azlgo oS b 5 (oS dad Wio

tellinformation("Scalia", andy: "Brown", mark: "OverMars")
tellinformation(jack: "Scalia", andy: "Brown", "OverMars")

tellinformation(jack: "Scalia", "OverMars", andy: "Brown")
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Jasuio (Slb OLOSS)l
)53 S sl ywy3 5> a5 jghilan .3)S Jwyl Lie 4 |y oylegS)T 1 @l dlass (g0 kwargs** g args* ols wlygiw jl eslaiwl b
s dolip 53 WBgl Lo .5)S Jlsyl sie &) (ylogS)T cailoddd cayyel jiilyy J&I1> 5 &5 (ployialyly dlaed & b Lie Lilgshs Ko i

1) A 4wl Sae ¥* g * 5l eslaiwl b HS ¢l 3uwS Jleyl T 4 ¢legS)T Golgads dlaei sie (3lg>hd Hb o 53 45 Ldlgsy cunl (Sao

DS azgs

def varArguments(*args)
total = @

for number in args
total = total + number

end

return total

end

puts "1 + 2 + 3 = #{varArguments(1, 2, 3)}"

puts "1 + 2 + 3 + 4 = #{varArguments(1, 2, 3, 4)}"

puts "1 + 2 + 3 + 4 + 5 = #{varArguments(1, 2, 3, 4, 5)}"

o0 &S (S5 S 39 )5 @ BT sl @ lgise (65505 b o 5 Aiwd (g)lisl kwargs g args (glgel o5 3uiS azgs «iSS ¢l @ 1ol

a0 (50 295 1)y LT 3)15 deldl )d a5 Al e * Caole dlass Cawl

G2lo3dd dlawi )5 (Hlg>))8 1) die a5 )b o ()lgi 0 iolhl PL I Ju8 6)liw Cuole Sy (515 )8 b (iS50 63D YL AT D aS jghiles
P3S4z pj JUie 40330 )5 @ o <ol byiohl b gleie ) yiehlh €9 ol )5 @ez o b ) 3T palie for jgiuws

def varArguments(number, *args)
puts "number = #{number}"
puts "args = #{args}"

end

varArguments(1, 2, 3)

number = 1

args = [2, 3]

S 53 yiehly iz 5l By . Bgdie 031> Yolaisl args @ legS)T audy g number) @) Giza (el gl 4 GLgS)T gl Vb 35 5>
©hl> &5 (5yiehb) yiohb ol ST .35L yiehh )3T Lb (S5 bl jl Gaizad g 0393 * h1d> 1L T 51 Sy L 3,uS 0 o3l Lo
9 oLl (slellie @) . 0ygds0 azlgo Ui b 35S eslatiuml HIs Cuode yiohly (paiz jl L g 3,555 Hh3 505 sloyiol)ly 5T )5 (Cusl * Caolle

D AS Azgi ) Cawyd
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def someMethod(*args, *args)
def someMethod(*args, paraml, param2)

def someMethod(paraml, param2, *args)

ALy 6y ylade (gh1> 2L b yiehly ol 1 a2 G yehl g 315 )18 a3 (slayiahly gl )3 1) )ls oyl yiehl plgie il

def varArguments(*args, number:10)
puts "args = #{args}"
puts "number = #{number}"

end

varArguments(1, 3, 5)

args = [1, 3, 5]

number = 10

1S dzgi ) A5 4.0y @3)lade liawl 1 eslaiwl b 1) yiehb ol 51 3= Gloyielhl LU Wie ilgShe s b g

def varArguments(*args, number:)
puts "args = #{args}"
puts "number = #{number}"

end

varArguments(1, 3, 5, number: 10)

Famlad 4295 1) 35 43S Juy)l)ls o)l yiohl @ el iz 2elgS e 45 345 y)8 Jl>

def varArguments(number, *args)
puts "number = #{number}"
puts "args = #{args}"

end

varArguments(1, *[2,3,4], *[5,6,7,8])

Iy YU 35 15T b @ )1)8 ) * e il 1 Jud g B9 Juoyl ulyT )g0 @) logS)T 45 CumsdlS 3 S (50 s line YU 35 > S jghilan
P byl Olgise @ ) Oz

varArguments(1, *[2,3,4], *[5,6,7,8])

13,5 Jloyl T @ hash a0 @ 1) bolegS)T (lgi (50 io (Hlg>ls i a5 wglas ¢l b JiS,e Joc args* auwb oo kwargs**

def varArguments(**kwargs)
puts (kwargs)
end

varArguments(personl: "Jack", person2: "Joe", person3: "Smith")
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{:personl=>"Jack", :person2=>"Joe", :person3=>"Smith"}
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1 def firstlLocalVariable
2 number = 10

3 puts number

4  end

5

6 def secondLocalVariable
7 number = 20

8 puts number

9 end

10

11 firstLocalvariable

12

13 secondLocalVariable

10
20

PIS )@ 4 plgize i (S9litie (gooedgamxe (ghl> a5 (V 9 ¥ bohs) uS (ayyei oy o b yuie 95 Lo )51 (= o5 3iS(50 oamlike
Ve J5Iy jusio 4 bl gue firstlocalVariable sie 51y )5 sads wayyed oo Iy olaisl alide polie LT jl
Tl 83930 )lgz (gh)1d Ruby 315 pudlgs Zabgd yiwis )b (2] )3 a3y lgwlS Coun 4 (5189 .3,l3 secondLocalVariable

(Local variable) Jow glojpsio e

(Global variable) (gywlhw goypkio e

(Instance variable) daiga (gloyuio o

(Class variable) w)S glojgio

(Local variable) (Jow (gldyasio
T30S 429l pj Jle @ Bleslaswl (B 3e las JS15 bid g Al (e Mg Layel e J51s &5 (b )agie

def LocalVariable
number = 10
puts number
end

LocalVariable()

coONO VT A WNPR

puts number

10

undefined local variable or method “number' for main:Object (NameError)
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@13 yain ol Hlado Ol ) 2w a5 A b3 > (Jg 950 il number juwio Hlade £ b5 )5 Mo (HlgB])8 b 3uS (10 03 Uik a5 Hghilad
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(Global variable) (g wlyw (gld,ustio

13S a2 pj Jlie @) L dind (gl Eo5 51 394 (o Egpid § aole b LT pb g Wgdis0 Linyel Mo 9w )3 & (Royusie

1  $firstNumber = 10
2  $secondNumber = 5
3 $sum

4

5 def globalVariable
6 $sum = $firstNumber + $secondNumber
7 puts $sum

8 end

9

10 globalvariable()
11  puts $sum

15

15

O @dloz S xie J515 )3 cdiiwd (oo Egi 51 g Bloass Layyei Ais (ygym ) $sum g $secondNember g $FirstNumber (sloisio

@0 (50 ZwogT 8] ) WIS g digal (Lo puio )90 )3 .aualed 83l S cuole I Lgif ©U 51 8 0L @S 1o i LgiT
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U disy (sUyiol)ly
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def printMessage(message = "Welcome to Ruby Tutorials!")
puts message
end

printMessage()
printMessage("Learn Ruby Today!")

AUV h WN R

Welcome to Ruby Tutorials!

Learn Ruby Today!

S = Colle jloslatiwl b g (ST & ¢lgiiso (5Ll yiolly SO Ganyed (gl - 315 (gLl yiol)bh SO (P bghs) printMessage() io
Juoyl Xie & (3legS)T Lo (B k3) (Slgmhd gl )3 .auiS e (Sile>lys 1) aie jb 93 .(V o5 Vb Jlie) 31> Golais! yislhly i @ |y Hlabe
(0legS)T) pleny S (F b3) (Silg>1ys (aegd )d . 3iS 0 oslatiusl (Welcome to Ruby Tutorials!) ,ébdi labe jl die olply auis e
23 2L LIS (B)iehly ded 34550 o3kl Nie )3 yiohly iz 1 S 390 yiehly oy Hlaie Sl oS S Jlw)l vie @
S 425 ;) (slellio @ . Nigid 553 Wayiolly ey 5T

def someMethod(defaultl = 10, default2 = 20, requirel, require2)

def someMethod(requirel, defaultl = 10, require2, default2

20)

def someMethod(requirel, require2, defaultl = 10, default2

20)
23S Jac pj Oyauo 4 yiehly SO (38,5 63050 (sl (gl a5 Al atsly Sb 4 3l

def someMethod(requiredl, defaultl = 10, default2 = 20)
end

someMethod (10, , 100);



AO 03w (4U; 43 Ruby

(Recursion) caisS;b
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Ll pusus Caie slacl (gl bidd J))giS1h Sl pusgs Golwl p @bl @ (T Wi (S8 4 L LEES;L i S Sl Gl elplo
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def factorial(number)

if (number == 1)
return 1
end

return number * factorial(number - 1)
end

print(factorial(5))

120

L 394050 55 oy |yST aBg3 Cucl bbb (.9 A=y ks 4 syguain] jué )3 la,Sp 1))

Iy 39> factorial sie ki ¢l )d 29,0 b (Number - 1) b9 jl yiaS aolg S (g33c )> number yugio (g)l> Hlade ¥V k> )
sac JuygiS B mumlgsy Lo )51 =y b number 10 (gl jlads )51 Wie .l number - 1 lao bs (1l )3 T Hlegs)T ¢ 1S e (Silg>1)
1332 b o Jlwyl (5logS)T a5 150 deld] (Siloj U pd 3ialyd .3 algs 3 Gpo (gl ) Factorial die ¢legS)T mygly Cund 4 1y lo

30 i | O 338 JysiSs i JSib 39 ol
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Factorial(5)

return 5 * Factorial(4) = 120

return 4 * Factorial(3) = 24

return 3 * Factorial(2) = 6

return 2 * Factorial(l) = 2

SCag ylgise ju5 while dils ) dluwg 4 1) YU &S
num = 5
factorial = 1
while num > 1
factorial = factorial * num
num = num - 1

end

print(factorial)

abdls iS5l esliiwl L350 3wl yiguelS pole )3 ol> (diue) )d CuiS;b I .l gl T GSiL Jslee aS 1 35 ¢l
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( Lambda expressions ) lawY wl)lc

23 &5 238l o Glasl Wldgl L g (o aislish pb (5 @loi loic & o (L) 1 (55 ) a4 Jiiwe b S pilgi ol )3 aweY wlile
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nameOfLambda = lambda {|parameter| expression }

Hon

nameOfLambda = -> (parameter) { expression }

SO Jle .S (50 o3 lasiwl OT s ghal gl pb e 5l doliy ) g IQJ)..S 0 B3 ) 1Y e (gl a5 cuwl (5oL nameOfLambda
1S (50 () 63k §98 gy 93 4 |y laseY wiylae jl edlw Jlio

showMessage = lambda { |message| print(message) }

showMessage.call("Hello World!")

Hello World!

dasoY wylbe S S (ghal (gl .3yl message pb 4 yiol)b S a5 @il 83,5 Lol showMessage pb 4 ool wylie S Lo Vb 35 )
I8 a5 o logS)T 1L A4S Josb yiehl daweY eyle S .auS (Siles)é 1) call die Guuw g 31350 dads Cuolle iy |y T pb 0
il o azai )3 5)ls message pb @ yiohlh SO Tl @yl YU JUio jd duwnghy call sio glojily J515 )5 1) Bgd Jueyl ¢ @ cwl
TCDgl gl (5o a 1) g G 1) YU AT @l 03,5 Jluyl (T & (5legS)T S call sie Gapb

showMessage = -> (message) { print(message) }

showMessage.call("Hello World!")

13,455 (5ol e «MlgT (5o lareY

showMessage = lambda { print("Hello World!") }

showMessage.call

Hello World!

1304 (50 42lge U b yj doliy Wie .3l ply oyiel)l slass b b legS)T slass b Lie (Silg>hé Ko

showMessage = lambda { |messagel, message2| puts(messagel, message2) }

showMessage.call("Hello World!")
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2l 63, Jlsyl T @ (5legS)T ) call sio J515 53 Lo (g (| messagel, message2|) S o Josb yiolyly 95 lauoY <)l Vb Jlio )
aalS (] 4 (g5l g Bgd (50 63513)55 (g3le Cls )3 1Y Wlygiaws a5 CuaS ylgi (5o .3ibl return aalS ghls Jilgs (Lo laeY Wwlile
: = ...

getSquare = lambda { |number| number * number }

print(getSquare.call(5))
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